

Vol. 33, No. 39

September 25, 2014

Pages 981-1014

this issue	Page
Legislative interim committee schedule	
City of Wichita Notice to bidders	
Department of Agriculture—Division of Conservation Notice of 2014 WTAP enrollment	
Department of Administration—Procurement and Contracts Notice to bidders for state purchases	
Kansas Board of Regents Universities Notice to bidders	
Department of Administration—Office of Facilities and Procurement Management Notice of commencement of negotiations for construction manager at-risk services	
Kansas Department of Transportation Notices to consulting firms Notice to contractors	
Statewide Independent Living Council of Kansas, Inc. Notice of meeting	
Secretary of State Executive appointments	
Department of Health and Environment Request for comments on proposed remediation work plan Requests for comments on proposed air quality permits Notice concerning water pollution control permits/applications	989, 990, 991
Kansas Department for Aging and Disability Services Request for proposals for early episode serious mental illness interventions	
City of Wellington Notice of intent to seek private placement of general obligation bonds	
City of Mulvane Public Building Commission Notice of bond sale	
Real Estate Appraisal Board Notice of hearing on proposed administrative regulations	
Kansas Agricultural Remediation Board Notice of hearing on proposed administrative regulation	
Pooled Money Investment Board Notice of investment rates	
Temporary Administrative Regulations Kansas Lottery	
Index to administrative regulations	

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet on the dates listed below based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email legserv@las.ks.gov.

Date	Room	Time	Committee	Agenda
Oct. 2	118-N	10:00 a.m.	Legislative Post Audit	Staff audits; other items.
Oct. 7	346-S	TBA	K-12 Student Performance & Efficiency Commission	Agenda not available.
Oct. 8	346-S	TBA	K-12 Student Performance & Efficiency Commission	Agenda not available.

Jeffrey M. Russell Director of Legislative Administrative Services

Doc. No. 042915

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2014. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Published by Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office: 1st Floor, Memorial Hall 785-296-3489 Fax 785-296-8577 kansasregister@sos.ks.gov

983

(Published in the Kansas Register September 25, 2014.)

City of Wichita, Kansas

Notice to Bidders

The city of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, 67202, until 10 a.m. Friday, October 24, for the following project:

KDOT Project No. 87N-0609-01/ 472-85116/249145 (OCA Code 715729) KDOT/Bridge

Old Lawrence Road Bridge Replacement

Requests for the bid documents and plans should be directed to QuikPrint at 316-942-2208 or to Jody Doyle at 316-268-4503. Other questions should be directed to the respective design engineer, 316-268-4598.

All bids received will thereafter be publicly opened, read aloud, and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of 5 percent with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Kim Pelton at 316-268-4499 for extra sets of plans and specifications.

Jody Doyle Administrative Aide II City of Wichita–Engineering

Doc. No. 042918

State of Kansas

Department of Agriculture Division of Conservation

Notice of 2014 WTAP Enrollment

The Kansas Department of Agriculture, Division of Conservation, will accept applications under the Water Right Transition Assistance Program (WTAP) during the 2014 enrollment period of October 1-November 15.

WTAP is a voluntary, incentive-based program that permanently retires privately held irrigation water rights in exchange for payment by the state of Kansas. It is intended to help restore aquifers and recover stream flows in critically depleted target areas. The 2012 Kansas Legislature extended WTAP until June 30, 2022, based on past results of the initial pilot project. The target areas currently designated include Rattlesnake Creek Sub-basin, Prairie Dog Creek Basin, and six "high priority areas" of Northwest Kansas Groundwater Management District No. 4. The WTAP rules and regulations, target area maps, application forms and other details are posted on the Division of Conservation website at http://agriculture.ks.gov/divisions-programs/division-ofconservation/water-conservation-programs.

WTAP bids cannot be approved by the Division of Conservation for more than \$2,000 per acre-foot of the Historic Consumptive Water Use as calculated over the last 10 years of actual annual water use of the water right(s) proposed for acceptance. WTAP grants can be combined with other federal or local water conservation programs that offer financial incentives. Applications to accept partial water rights also can be considered. The award of WTAP grants for water right retirements is based on a competitive bidding process. Applications that propose a financial contribution from a local entity may increase the priority of an application.

For more information about WTAP contact Steve Frost, program administrator, at 785-564-6622 or steve.frost@kda.ks.gov.

> Greg A. Foley Executive Director Division of Conservation

Doc. No. 042923

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

10/07/2014	EVT0003350	Scale Parts and Maintenance
10/16/2014	EVT0003344	Well Plugging – District 2
10/22/2014	EVT0003353	Well Plugging – Wagner
10/28/2014 10/31/2014 10/31/2014	EVT0003360 EVT0003356 EVT0003357	(Lembeck) Project – C20150007 Training, Project Management Advertising, Online Program Janitorial Services – Topeka

The above-referenced bid documents can be downloaded at the following website:

http://admin.ks.gov/offices/procurement-and-contracts/ bid-solicitations

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://admin.ks.gov/offices/procurement-and-contracts/ additional-files-for-bid-solicitations

10/07/2014	A-012383REV	Roof Replacement – Wilkins Stadium – Wichita State University, Wichita
10/09/2014	A-012555	Roof Repairs – Stroup Hall – Fort Hays State University, Hays
10/23/2014	A-012254	New Building – College of Business Administration – Kansas State University, Manhattan

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http://admin.ks.gov/offices/ofpm/dcc.

Tracy T. Diel, Director Procurement and Contracts

State of Kansas Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University — Bid postings: www.emporia.edu/ busaff/. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: tshepher@emporia.edu. Mailing address: Emporia State University Purchasing, Campus Box 4021, 1 Kellogg Circle, Emporia, KS 66801-5415.

Fort Hays State University — Bid postings: www.fhsu.edu/ purchasing/bids. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University — Bid postings: www.k-state.edu/ purchasing/rfq. Additional contact info: phone: 785-532-5214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

Pittsburg State University — Bid postings: www.pittstate.edu/ office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: purch@pittstate.edu. Mailing address: Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas — Electronic bid postings: http:// www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center — Bid postings: http:// www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University — Bid postings: www.wichita.edu/ purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

> Steve White Chair of Regents Purchasing Group Director of Purchasing Wichita State University

Doc. No. 042813

State of Kansas Department of Administration Office of Facilities and Procurement Management

Notice of Commencement of Negotiations for Construction Manager At-Risk Services

Notice is hereby given of the commencement of negotiations for construction management at-risk services for the Health Education Building at the University of Kansas Medical Center, Kansas City, Kansas. This is to be an interdisciplinary building to provide 21st Century Space. The school's curriculum will emphasize small-group problem solving, simulation space with technologydriven interactive classrooms, allowing KUMC to move forward as a premiere institution for training tomorrow's health professionals. Construction budget for the project is \$60,000,000.

The construction manager at-risk will provide for each phase of cost estimating, scheduling, constructability reviews and value engineering studies; procure equipment, prequalify subcontractors and take bids; review bids with the design team and owner to determine bids to accept; prepare cost estimate(s) for the un-bid portion(s); provide a guaranteed maximum price and a bond; and manage construction and track all costs for the design team and owner's review.

Questions about the proposed scope of services should be submitted to David Rau at 913-945-5943 or drau2@kumc.edu. An architectural/engineering program is available at http://admin.ks.gov/offices/ofpm/dcc/arch-eng-programs.

To be considered, one (1) PDF file of the following should be provided: State of Kansas Professional Qualifications DCC Forms 051-054, inclusive, and information regarding similar projects. Forms may be found at http:// admin.ks.gov/offices/ofpm/dcc. State of Kansas Professional Qualifications DCC Form 050 for each firm and consultant should be provided at the end of each proposal. Please include your firm name, agency abbreviation and an abbreviated project name in the title of the PDF document. Proposals should follow the current State Building Advisory Commission guidelines for Phase II of the Construction Management at Risk process, which can be found in Part B — Chapter 7 of the Building Design and Construction Manual at www.da.ks.gov/fp/ manual.htm. Proposals should be sent on a CD, DVD or flash drive along with a transmittal to Randy Riveland, Office of Facilities and Procurement Management, Suite 700, 800 S.W. Jackson, Topeka, 66612-1216. Proposals sent via email will no longer be accepted and paper copies of the proposals are no longer required. Proposals received after the date and time noted below will not be forwarded to the State Building Advisory Commission for review. If you have questions call 785-296-0749. The PDF proposal submittals shall be delivered to the attention of Randy Riveland by 2 p.m. on or before October 10, 2014.

> Mark J. McGivern, Director Office of Facilities and Procurement Management

Notice to Consulting Firms

The Kansas Department of Transportation is seeking qualified consulting firms prequalified in Category 211 – Highway Design Major Facility or Category 212 –Highway Design Minor Facility, and Category 221 – Non-standard Span Bridge Design or Category 222 – Standard Span Bridge Design, for projects listed below. A PDF (1Mb maximum size) of the interest response must be emailed to David J. Nagy, P.E., assistant to the director of design/contracts engineer, at davidn@ksdot.org. Interest and experience responses are limited to four pages, and the subject line of the reply email and the PDF file name must read "FY17-FY20 Bridge Projects LOI—Firm Name." The letter of interest is required and must be received by noon October 2, 2014, for the consulting firm to be considered. View categories at http://www.ksdot.org/divengdes/prequal/default.asp.

FY17-FY20 Bridge Projects

This advertisement is to obtain consultants to do road and bridge projects statewide:

KA-3875-01	KA-3893-01	KA-3905-01	KA-3929-01	KA-3944-01	KA-3955-01
KA-3876-01	KA-3894-01	KA-3907-01	KA-3930-01	KA-3946-01	KA-3959-01
KA-3877-01	KA-3895-01	KA-3908-01	KA-3932-01	KA-3949-01	KA-3960-01
KA-3881-01	KA-3896-01	KA-3909-01	KA-3933-01	KA-3950-01	KA-3961-01
KA-3882-01	KA-3897-01	KA-3912-01	KA-3936-01	KA-3951-01	KA-3963-01
KA-3884-01	KA-3901-01	KA-3914-01	KA-3937-01	KA-3952-01	KA-3964-01
KA-3886-01	KA-3902-01	KA-3916-01	KA-3938-01	KA-3953-01	
KA-3888-01	KA-3903-01	KA-3921-01	KA-3943-01	KA-3954-01	

Please include in your letter of interest if your firm is interested in working on any particular project(s) on the imminent project list, has exceptional skills, and/or knowledge of the particular area that would make your firm most suited. The scope of the services may include a brief study, traffic engineering, survey, public involvement, road design, hydrology/hydraulics, bridge design and designer construction services.

The Consultant Shortlist Committee will select the most highly qualified firms expressing interest and based on the letter of interest, size and professional qualifications, experience of staff, work load of firm, prequalifications, location of firm with respect to project(s), work history and performance record. View categories and prequalifications at www.ksdot.org/divengdes/prequal.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support actual costs and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or davidn@ksdot.org.

Jim L. Kowach, P.E., Director Division of Engineering and Design

Doc. No. 042905

State of Kansas Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation is seeking general qualified "on-call" consulting firms prequalified in multiple categories for general project designs immediately and subsequently. A list of imminent projects can be obtained from David J. Nagy, P.E., assistant to the director of design/contracts engineer, at davidn@ksdot.org. A PDF (1Mb maximum size) of the interest response must be emailed to David Nagy. Interest and experience responses are limited to four pages, and the subject line of the reply email and the PDF file name must read "On-Call General Consulting LOI—Firm Name." The letter of interest is required and must be received by noon October 2, 2014, for the consulting firm to be considered. View categories at http://www.ksdot.org/divengdes/prequal/default.asp.

On-Call General

This advertisement is to obtain on-call general consultants to do imminent road and bridge projects and any subsequent projects, as necessary, statewide.

Please include in your letter of interest if your firm is interested in working on any particular project(s) on the imminent project list, has exceptional skills, and/or knowledge of the particular area that would make your firm most suited. The scope of the services may include a brief study, traffic engineering, survey, public involvement, road design, hydrology/hydraulics, bridge design and designer construction services.

The Consultant Shortlist Committee will select the most highly qualified firms expressing interest and based on the letter of interest, size and professional qualifications, experience of staff, work load of firm, prequalifications, location of firm with respect to project(s), work history and performance record. View categories and prequalifications at www.ksdot.org/divengdes/prequal.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support actual costs and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or davidn@ksdot.org.

Jim L. Kowach, P.E., Director Division of Engineering and Design

State of Kansas

Statewide Independent Living Council of Kansas, Inc.

Notice of Meeting

The Statewide Independent Living Council of Kansas, Inc., will meet at 10 a.m. Wednesday, October 29, in the Suite 2000 meeting room in the Downtown Ramada, 420 S.E. 6th Ave., Topeka. For more information or to request accommodation contact Kathy Cooper, SILCK executive director, at 785-234-6990 or kathy.cooper@silck.org.

> Kathy Cooper Executive Director

Doc. No. 042902

State of Kansas

Department of Transportation

Notice to Contractors

Electronic copies of the letting proposals and plans are available on the KDOT website at http://www.ksdot.org/ burconsmain/contracts/proposal.asp. The website will allow the contractor to request approval from KDOT to bid as a prime contractor and be included on the "Bid Holders List," or to be included on the "Non-Bid Holders List" as a subcontractor/supplier. KDOT's approval is required to bid as a prime contractor. To bid as a prime contractor, KDOT needs to be notified of the intent to bid not later than the close of business on the Monday preceding the scheduled letting date. Failure to obtain prior approval to bid as a prime contractor on any projects listed below will be reason to reject the bid. The secretary of transportation reserves the right to reject bids that do not comply with all requirements for preparing a bidding proposal as specified in the 2007 edition of the Kansas Department of Transportation Standard Specifications for State Road and Bridge Construction.

KDOT will only accept electronic proposals using the Bid Express website at http://www.bidx.com until 1 p.m. local time October 22, 2014. KDOT will open and read these proposals at the Eisenhower State Office Building, 700 S.W. Harrison, Topeka, at 1:30 p.m. local time October 22, 2014. An audio broadcast of the bid letting is available at http://www.ksdot.org/burconsmain/audio.asp.

Each bidder shall certify that such person, firm, association or corporation has not, either directly or indirectly, entered into any agreement, participated in any collusion, or otherwise taken any action in restraint of free competitive bidding in connection with the submitted bid. This certification shall be in the form of a required contract provision provided by the state to each prospective bidder. Failure to complete the required contract provision and certify the completeness of the preceding statement when electronically signing the proposal will make the bid nonresponsive and not eligible for award consideration.

District One — Northeast

Johnson—46 C-0051-01 — Mission Road, 0.85 mile north of 175th Street, grading, bridge and surfacing, 0.2 mile. (Federal Funds) Johnson—69-46 KA-2788-01 — Bridge #256 on U.S. 69 located 0.14 mile south of I-35/I-635/U.S. 69 (Turkey Creek), special. (State Funds)

Johnson—35-46 KA-3652-01 — I-35/I-635 interchange, truss (#046S223) just east of bridge #258 carrying I-635 northbound over I-35 southbound, signing. (State Funds)

Johnson—46 N-0581-01 — 75th Street from Mission to State Line, grading and surfacing, 1.2 miles. (Federal Funds)

Johnson—46 U-0163-01 — 95th Street over Cedar Creek, bridge replacement. (Federal Funds)

Shawnee—89 TE-0380-01 — Main Street from the north R/W line of the UP Railroad (Anderson Street) north through Pottawatomie Street and Main Street intersection, landscaping and beautification. (Federal Funds)

Wyandotte—105 TE-0395-01 — Kaw Point Connector, located at the confluence of the Kansas and Missouri rivers, pedestrian and bicycle paths. (Federal Funds)

Wyandotte—105 TE-0604-01 — Missouri River/Jersey Creek connector, Phase 1, pedestrian and bicycle paths, 1.0 mile. (Federal Funds)

District Two — North Central

Geary—70-31 KA-3985-01 — Rest areas, eastbound/ westbound at state milepost 294, fencing, 1.0 mile. (State Funds)

McPherson—59 TE-0378-01 — Various locations on Lincoln Street in Lindsborg, landscaping and beautification. (Federal Funds)

Republic—36-79 KA-2085-01 — Bridge #012 on U.S. 36 located 0.22 mile east of U.S. 81 (Riley Creek), bridge replacement, 0.4 mile. (Federal Funds)

Republic—36-79 KA-2334-01 — U.S. 36, from 0.24 mile east of U.S. 36/U.S. 81 junction, east to 1.1 miles east of the U.S. 36/U.S. 81 junction, pavement reconstruction, 0.9 mile. (Federal Funds)

Riley—18-81 KA-3857-01 — Bridge #041 on K-18 located 0.12 mile north of the Riley/Geary county line, bridge repair. (State Funds)

Statewide—106 KA-4040-01 — K-28, from the K-28/K-14 junction east to the K-28/K-148 junction; K-148, from the K-148/K-28 junction east to the Jewell/Republic county line; K-148, from the Republic/Jewell county line east to the U.S. 81/K-148 junction, milling and overlay, 28.6 miles. (State Funds)

District Three — Northwest

Decatur—83-20 KA-3668-01 — U.S. 83, from 9 miles north of the Decatur/Sheridan county line north to the concrete pavement (in Oberlin), conventional seal, 8.0 miles. (State Funds)

Ellis—26 TE-0386-01 — Bicycle pavement markings citywide in Hays — implementation of the Hays Bike Plan, pedestrian and bicycle paths. (Federal Funds)

Ellis—26 TE-0387-01 — In the city of Hays, Levee Trail, pedestrian and bicycle paths. (Federal Funds)

Logan—83-55 KA-3669-01 — U.S. 83, from the Logan/ Scott county line north 29.1 miles to the east junction of U.S. 83/U.S. 40, milling and overlay, 29.1 miles. (State Funds)

Logan—83-55 M-0041-01 — U.S. 83 from the Scott/Logan county line north 29.1 miles to the east U.S. 40/U.S.

83 junction, stockpile bituminous material, 29.1 miles. (State Funds)

Logan—55 KA-3976-01 — K-25, from the north city limits of Russell Springs north to the west junction of U.S. 40/K-25; U.S. 40, from the Logan/Wallace county line east to concrete pavement (0.25 mile west of west U.S. 40/U.S. 83 junction), conventional seal, 46.8 miles. (State Funds)

Ŕawlins—117-77 KA-3670-01 — K-117, from the U.S. 36/K-117 junction, north to the Kansas/Nebraska state line, recycle and overlay, 12.0 miles. (State Funds)

Sherman—24B-91 KA-3663-01 — U.S. 24 Business, from the north junction of U.S. 24 Business/K-27, east and south to the east junction of I-70/US-24 Business, milling and overlay, 2.3 miles. (State Funds)

Sherman—27-91 KA-3665-01 — K-27, from the north junction of U.S. 24 Business/K-27 north to the Sherman/ Cheyenne county line, ultra thin bonded asphalt surfacing, 16.6 miles. (State Funds)

Sherman—70-91 KA-4036-01 — I-35, from 0.114 mile west of the I-70/K-27 interchange east to the I-70/K-253 interchange (near Edson), milling and overlay, 10.1 miles. (State Funds)

Sherman—70-91 M-0042-01 — I-70, from 0.25 mile west of the I-70/K-27 interchange, east to the I-70/K-263 interchange (near Edson), stockpile bituminous material, 10.2 miles. (State Funds)

Thomas—97 M-0038-01 — Oakley Mixing Strip on the west side of U.S. 83 and at the Colby Subarea Shop, stockpile bituminous material. (State Funds)

District Four — Southeast

Bourbon—6 U-0070-01 — Fort Scott, Park Loop Road and Parking, surfacing, 0.8 mile. (Federal Funds)

District Five — South Central

Barber—281-4 KA-3829-01 — U.S. 281, from the state line north to the U.S. 160/U.S. 281 junction, slurry seal, 23.9 miles. (State Funds)

Barton—96-5 KA-3818-01 — K-96, from the Barton/ Rush county line to Great Bend, milling and overlay, 13.6 miles. (State Funds)

Barton—281-5 KA-3828-01 — U.S. 281, from U.S. 281/ K-4 north to the Barton/Russell county line, milling and overlay, 11.1 miles. (State Funds)

Kiowa—400-49 KA-3263-01 — U.S. 400, from the Kiowa/Ford county line east to the U.S. 400/U.S. 54 junction, overlay, 6.3 miles. (State Funds)

Pratt—281-76 KA-3827-01 — U.S. 281, from Pratt north to Iuka, ultra thin bonded asphalt surfacing, 5.0 miles. (State Funds)

Sedgwick—96-87 KA-3576-01 — K-96, bridges #315 and #328, located 0.56 and 0.61 mile east of K-96/West Street (K-96 over the Arkansas River), bridge repair. (State Funds)

Sedgwick—87 TE-0598-01 — Valley Center, Mc-Lauglin Street between 5th Street and North Meridian Avenue, pedestrian and bicycle paths, 0.5 mile. (Federal Funds)

Stafford—50-93 KA-3264-01 — U.S. 50, from the west city limits of Macksville east to the east city limits of Macksville, milling and overlay, 1.0 mile. (State Funds)

Stafford—50-93 KA-3806-01 — U.S. 50, from the west county line to U.S. 50/U.S. 281, milling and overlay, 15.0 miles. (State Funds)

Stafford—281-93 KA-3830-01 — U.S. 281, from U.S. 50/ U.S. 281 north to U.S. 281/K-19, overlay, 14.0 miles. (State Funds)

Statewide—19-106 KA-4033-01 — K-19, from the K-19/ K-19 spur junction east to the Pawnee/Stafford county line; K-19, from the Stafford/Pawnee county line east to U.S. 281/K-19, milling and overlay, 19.1 miles. (State Funds)

Statewide—42-106 KA-4034-01 — K-42; from U.S. 281/ K-42 to south county line; from north county line to east county line; from west county line to K-14/K-42, milling and overlay, 37.6 miles. (State Funds)

Statewide—14-106 KA-4035-01 — K-14; from the east U.S. 54/K-14 junction north to the Kingman/Reno county line; from the Reno/Kingman county line north to K-14/ K-96, recycle and overlay, 21.1 miles. (State Funds)

District Six — Southwest

Grant—25-34 KA-3685-01 — K-25, from Ulysses north to the Grant/Kearny county line, milling and overlay, 9.9 miles. (State Funds)

Statewide—106 KA-3968-01 — K-96, from the Lane/ Scott county line east to the west city limits of Dighton; K-4, from the Lane/Scott county line east to the east K-4/ K-23 junction; K-4, from U.S. 83/K-4 east to the Scott/Lane county line, recycle and overlay, 35.3 miles. (State Funds)

Hamilton—50-38 KA-3680-01 — U.S. 50, from the Kansas/Colorado state line east to the east city limits of Syracuse, milling and overlay, 17.2 miles. (State Funds)

Meade—60 C-4637-01 — Multiple routes, signing, 37.3 miles. (Federal Funds)

Meade—60 C-4638-01 — Various county roads, signing, 14.0 miles. (Federal Funds)

Statewide—160-106 KA-4014-01 — U.S. 160; from the Grant/Stanton county line east to the west city limits of Ulysses; from the north junction of U.S. 160/K-27 east to the Stanton/Grant county line, milling and overlay, 21.4 miles. (State Funds)

Statewide—190-106 KA-4028-01 — K-190; from U.S. 160/K-190 south and east to the Grant/Haskell county line; from the Haskell/Grant county line east to the west U.S. 56 junction at Santana, overlay, 12.3 miles. (State Funds)

Statewide—106 KA-4029-01 — K-25, from the Grant/ Stevens county line north to the south city limits of Ulysses (Colorado Street); U.S. 56, from U.S. 56/K-51 north to 0.1 mile south of the east junction of U.S. 56/K-25; K-25, from the east junction of U.S. 56/K-25 north to the Stevens/ Grant county line, milling and overlay, 28.6 miles. (State Funds)

Statewide—83-106 KA-4032-01 — U.S. 83; from the Haskell/Seward county line north to 0.2 mile north of the U.S. 83/U.S. 160/K-144 junction; from the south junction of U.S. 83/U.S. 160 north to the Seward/Haskell county line, recycle and overlay, 20.2 miles. (State Funds)

Mike King Secretary of Transportation

State of Kansas

Secretary of State

Executive Appointments

Executive appointments made by the governor, and in some cases by other state officials, are filed with the secretary of state's office. A listing of Kansas state agencies, boards, commissions, and county officials are included in the Kansas Directory, which is available on the secretary of state's website at www.sos.ks.gov. The following appointments were recently filed with the secretary of state:

Justice, Kansas Supreme Court

Hon. Caleb Stegall, Kansas Judicial Center, 301 S.W. 10th Ave., Topeka, 66612.

State Representative, 93rd District

John Whitmer, 12905 W. Red Rock, Wichita, 67235. Succeeds George "Joe" Edwards, deceased.

Morton County Commissioner, District 2

Jay D. Coen, Morton County Courthouse, 1025 Morton St., Elkhart, 67950. Succeeds Bob Boaldin, resigned.

Seward County Attorney

Russell Hasenbank, Seward County Courthouse, 515 N. Washington, Liberal, 67901. Succeeds Don Scott, resigned.

Wilson County Register of Deeds

Connie O'Neill, Wilson County Courthouse, 615 Madison, Fredonia, 66736. Succeeds Teresa Young, resigned.

Kansas Creative Arts Industries Commission

Kim Dugger Attwater, 420 S. Lynwood St., Wichita, 67218. Term expires July 1, 2017. Reappointed.

Toni Smith, 2449 Road V, Moscow, 67952. Term expires July 1, 2017. Succeeds Linda Browning-Weis.

Dr. James Southwell Jr., 15205 Bond St., Overland Park, 66221. Term expires July 1, 2017. Succeeds David Lindstrom.

Local Food and Farm Task Force

(Created pursuant to 2014 Session Laws of Kansas, Chapter 133)

Ron Brown, Chairman, 1269 Birch Road, Fort Scott, 66701. Term expires Dec. 31, 2015.

David Coltrain, 2902 Terrace Place, Garden City, 67846. Term expires Dec. 31, 2015.

Loren Swenson, 2168 N. 140th Road, Concordia, 66901. Term expires Dec. 31, 2015.

Kansas Commission on Peace Officers' Standards and Training

Mark Bundy, 11118 Georgia Ave., Kansas City, KS 66109. Term expires July 1, 2018. Reappointed.

Kansas Pet Animal Advisory Board

Sharon Meissner, 2205 S.W. Miller Glen Drive, Topeka, 66614. Term expires June 30, 2015. Succeeds Linda Merrill-Parman.

Kris W. Kobach Secretary of State

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment received a Remediation Work Plan from the city of Lawrence for the former Farmland Industries Nitrogen Plant. The facility is located at 1608 N. 1400 Road, Lawrence, Kansas, and has EPA identification number KSD007128507.

KDHE is providing notice of its intent to approve an RCRA CRS Unit Remediation Work Plan for the facility. The proposed work plan outlines soil remediation work that will be completed to address the excavation, remediation and replacement of low pH soils and materials underlying the location of the CRS unit. The work plan includes neutralizing the low pH soils in an effort to raise the pH of the groundwater. The plan also includes the installation of replacement wells to monitor the groundwater after the site work is complete.

State hazardous waste laws require that the public be given at least 45 days to review the work plan prior to KDHE giving a final approval. The purpose of having a public comment period is to ensure that interested parties have the opportunity to evaluate the conditions specified in the work plan and to provide their input into the approval process. A copy of the work plan and fact sheet is available for public review from September 29 through November 12, Monday through Friday during normal business hours, at the following locations:

Kansas Department of Health and Environment Hazardous Waste Permits Section 1000 S.W. Jackson, Suite 320 Topeka, 66612 Contact: Mostafa Kamal 785-296-1609

Lawrence Public Library 707 Vermont St. Lawrence, 66044 785-843-3833

The administrative record also can be accessed on the KDHE website at the following link:

http://www.kdheks.gov/waste/p_pubnot_hw.html

As specified in 40 CFR 124.11, during the public comment period any interested person may request a public hearing in writing that states the nature of the issues proposed to be raised in a public hearing. In the event that a hearing is scheduled, advance notice of the date will be given to the public.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042920

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Ebert Construction Company, Inc., has applied for a Class I operating permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Ebert Construction Company, Inc., 103 W. Valley St., Wamego, KS 66547, owns and operates an air curtain incinerator currently located at 103 W. Valley St., Wamego, KS 66547, which can be portable throughout Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Northeast District Office, 800 W. 24th St., Lawrence. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Pat Simpson, 785-842-4600, at the KDHE Northeast District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042908

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Koch and Co., Inc., has applied for a Class I operating permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Koch and Co., Inc., 1809 North St., Seneca, KS 66538, owns and proposes to operate an air curtain incinerator currently located at 1809 North St., Seneca, KS 66538, which will be portable throughout Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Northeast District Office, 800 W. 24th St., Lawrence. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Pat Simpson, 785-842-4600, at the KDHE Northeast District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review pe-(continued) riod, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042911

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Southern Star Central Gas Pipeline, Inc. – Stafford Compressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Southern Star Central Gas Pipeline, Inc., P.O. Box 20010, Owensboro, KY 42304, owns and operates the Stafford Compressor Station, a natural gas compressor station located at Section 19, T25S, R11W, Stafford County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours, 8 a.m. to 5 p.m., at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Southwest District Office, 302 W. McArtor Road, Dodge City. To obtain or review the proposed permit and supporting documentation, contact Barbara Bangert, 785-296-1582, at the KDHE central office, or Ethel Evans, 620-356-1075, at the KDHE Southwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Barbara Bangert, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Barbara Bangert, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042907

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Miles Excavating, Inc., has applied for a Class I operating permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Miles Excavating, Inc., 15063 State Ave., Basehor, KS 66007, owns and operates an air curtain incinerator currently located at 130th and Delaware Ridge, Kansas City, Kansas, which can be portable throughout Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the Unified Government of Wyandotte County/Kansas City, Kansas Health Department (WYCO-KCK), 619 Ann Ave., Kansas City, Kansas. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Bruce Anderson, 913-573-6700, at the WYCO-KCK. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042909

State of Kansas Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Haupt Construction Company has applied for a Class I operating permit in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Haupt Construction Company, P.O Box 428, Spring Hill, KS 66083, owns and operates an air curtain incinerator currently located at 19951 W. 207th, Spring Hill, KS 66083, which can be portable throughout Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the Johnson County Environmental Department, 11811 S. Sunset, Suite 2700, Olathe. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Mike Boothe, 913-715-6939, at the Johnson County Environmental Department. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Environmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042910

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. ANR Pipeline Company – Meade Com-(continued) pressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

ANR Pipeline Company, 717 Texas St., Suite 2400, Houston, TX 77002, owns and operates the Meade Compressor Station, a natural gas compressor station located at Section 21, T34S, R29W, Meade County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours, 8 a.m. to 5 p.m., at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Southwest District Office, 302 W. McArtor Road, Dodge City. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Ethel Evans, 620-356-1075, at the KDHE Southwest District Office. The standard departmental cost will be assessed for any copies requested.

¹ Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon October 27.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon October 27 in order for the secretary of health and environment to consider the request.

The U.S. Énvironmental Protection Agency has a 45day review period, which will start concurrently with the public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region 7, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

> Robert Moser, M.D. Secretary of Health and Environment

State of Kansas

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-14-247/251 Pending Permits for Confined Feeding Facilities

Name and Address of Applicant Cody Campfield Dillwyn Acres 355 N.W. 30 Ave. Great Bend, KS 67530

Kansas Permit No. A-ARSF-C003

LegalReceivingDescriptionWaterW/2 of Section 09,
T24S, R14W,Lower ArkansasStafford CountyKiver Basin

Federal Permit No. KS0115681

This is a permit modification for an existing facility with the maximum capacity for 4,000 head (4,000 animal units) of cattle weighing greater than 700 pounds. The facility description, required operating levels for Retention Control Structure 3, and facility diagram are being modified to reflect the as-built conditions of the facility following the recent construction that took place. There are no other changes to the permit. Only the portions of the permit being modified are subject to comment. This facility has an approved Nutrient Management Plan on file with KDHE.

Name and Address of Applicant	Legal Description	Receiving Water
Gary Kriley	SE/4 of Section 15,	Lower Republican
213 East Ave.	T01S, R10W, Jewell	River Basin
Esbon, KS 66941	County	
Kansas Permit No. A-LRIW-	B003	

Kansas Permit No. A-LRJW-B003

This permit is being reissued for an existing facility with a maximum capacity of 500 head (500 animal units) of cattle more than 700 pounds. There is no change in the permitted animal units.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Bruce J. Kershner	SE/4 of Section 22,	Upper Arkansas
1948 Highway 96	T18S, R19W, Rush	River Basin
Rush Center, KS 67575	County	

Kansas Permit No. A-UARH-B015

This permit is being reissued for an existing facility with a maximum capacity of 100 head (100 animal units) of cattle more than 700 pounds and 100 head (50 animal units) of cattle 700 pounds or less,

for a total of 200 head (150 animal units) of cattle. There is no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Arthur Davidson Davidson Brothers 1335 800 Ave.	SW/4 of Section 30, T15S, R03E, Dickinson County	Smoky Hill River Basin
Hope, KS 67451		

Kansas Permit No. A-SHDK-M013

This permit is being reissued for an existing facility with a maximum capacity of 100 head (140 animal units) of mature dairy cattle. There is no change in the permitted animal units.

Name and Address	Legal	Receiving
of Applicant	Description	Water
Joe Thielen	SE/4 of Section 36,	Smoky Hill River
Thielen Farms LLC	T13S, R12W,	Basin
P.O. Box 112 Dorrance, KS 67634	Russell County	

Kansas Permit No. A-SHRS-B005

This permit is being reissued for an existing facility with a maximum capacity of 900 head (900 animal units) of cattle more than 700 pounds. This represents a decrease in animal units from the previous permit.

Public Notice No. KS-Q-14-157/162

The requirements of the draft permits public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria:

Name and Address of Applicant	Receiving Stream	Type of Discharge
Cargill, Inc.	White Clay Creek	Process
P.O. Box 438	via Drainage Ditch	Wastewater
Atchison, KS 66002	0	

Kansas Permit No. I-MO01-PO11Federal Permit No. KS0096601Legal Description: SE¹/₄, S20, T6S, R20E, Atchison County, KS

Facility Name: Cargill, Inc. – Atchison Grain Elevator

Facility Address: 15262 - 258th Road, Atchison, KS 66002

The proposed action is to reissue an existing permit for discharge from an existing wastewater treatment facility. This facility is a grain storage elevator. The foundation drainage enters a cistern. The flow from the cistern is combined with the flow from the 100 tunnel drain sump and treated in an aeration tank. Discharge from the aeration tank combines with the discharges from the flat tunnel shed sump and the stormwater from the flat shed and grain bin areas prior to discharge. The proposed permit contains limits for dichloromethane, carbon tetrachloride, chloroform and pH, as well as monitoring of effluent flow.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Chapman, City of	Smoky Hill River	Treated Domestic
P.O. Box 321	5	Wastewater
Chapman, KS 67431		

Kansas Permit No. M-SH04-OO01 Federal Permit No. KS0029114

- Legal Description: NE¼, NE¼, SW¼, S32, T12S, R4E, Dickinson County, KS
- The proposed action is to reissue an existing permit for an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli and pH, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen and flow.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Fontana, City of	Marais des Cygnes	Treated Domestic
P.O. Box 31	River via Unnamed	Wastewater
Fontana, KS 66026	Tributary	
Kansas Permit No. M-MC10-	OO01 Federal Pe	rmit No. KS0095532

Legal Description: NW¼, NE¼, NE¼, S2, T19S, R 23E, Miami County, KS

The proposed action is to reissue an existing permit for an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Midwest Minerals, Inc. P.O. Box 412 Pittsburg, KS 66762	Drywood Creek via Buck Run Creek via Unnamed Tributary	Stormwater
Kansas Permit No. I-MC11-PO06 Federal Permit No. KS0081655		
Legal Description: NW¼, S32, T26S, R25E, Bourbon County, KS		
Facility Name: Quarry #11		
The proposed action consists of reissuing an existing permit for dis-		

The proposed action consists of reissuing an existing permit for discharge of wastewater during quarry operations. When active, this is a limestone quarrying and crushing operation with no washing. Outfall 001A1 consists of stormwater runoff and quarry pit water. The proposed permit contains generic water-quality language to protect waters of the state.

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
Reading, City of P.O. Box 7 Reading, KS 66868	Marais des Cygnes River via Unnamed Tributary	Treated Domestic Wastewater

Kansas Permit No. M-MC41-OO01 Federal Permit No. KS0047414 Legal Description: SE¹/₄, SE¹/₄, SE¹/₄, S34, T17S, R13E, Lyon County, KS

The proposed action is to reissue an existing permit for an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
Williamsburg, City of P.O. Box 414 Williamsburg, KS 66095	East Branch Tequa Creek via Mill Creek	Treated Domestic Wastewater

Kansas Permit No. M-MC50-OO02 Federal Permit No. KS0093203

Legal Description: NE¹/4, NE¹/4, SW¹/4, S13, T18S, R17E, Franklin County, KS

The proposed action is to reissue an existing permit for an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total recoverable copper and pH.

Public Notice No. KS-NQ-14-006/008

The requirements of the draft permits public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g):

Name and Address	Legal	Type of
of Applicant	Location	Discharge
Hall Brothers Inc. 1196 E. Pony Express Hwy. Marysville, KS 66508	State of Kansas	Nonoverflowing

Kansas Permit No. I-BB13-NK06 Facility Name: Asphalt Plant #6

Federal Tracking No. KSJ000650

The proposed action consists of issuing a new wastewater permit for a new portable asphaltic concrete production operation. Two scrubber settling basins(s) collect and treat wastewater originating from the wet scrubber and do not discharge. Instead, wastewater from the basin(s) is recycled as makeup water for the wet washer (scrubber system). Solids are removed from the basins as needed. The basins(s) will be deactivated if the asphalt plant is moved or removed from service.

(continued)

993

Name and Address	Legal	Type of
of Applicant	Location	Discharge
Hall Brothers Inc.	State of Kansas	Nonoverflowing
1196 E. Pony Express Hwy.		0
Marysville, KS 66508		
Kansas Permit No. I-BB13-NI	K09 Federal Tra	cking No. KSJ000648
Facility Name: Asphalt Plant	#9	

The proposed action consists of issuing a new wastewater permit for a new portable asphaltic concrete production operation. This facility is a portable asphaltic concrete production operation. Two scrubber settling basins(s) collect and treat wastewater originating from the wet scrubber and do not discharge. Instead, wastewater from the basin(s) is recycled as makeup water for the wet washer (scrubber system). Solids are removed from the basins, as needed. The basins(s) will be deactivated if the asphalt plant is moved or removed from service. An on-site well is normally used as a non-potable water source and a portable toilet is used for sanitary waste collection. The stormwater runoff from the entire plant is directed to a pond on-site near the sand pit.

Name and Address of Applicant	Legal Location	Type of Discharge
Hall Brothers Inc.	State of Kansas	Nonoverflowing
1196 E. Pony Express Hwy.		0
Marysville, KS 66508		

Kansas Permit No. I-BB13-NK11 Federal Tracking No. KSJ000647 Facility Name: Asphalt Plant #11

The proposed action consists of issuing a new wastewater permit for a new portable asphaltic concrete production operation. This facility is a portable asphaltic concrete production operation. Two scrubber settling basins(s) collect and treat wastewater originating from the wet scrubber and do not discharge. Instead, wastewater from the basin(s) is recycled as makeup water for the wet washer (scrubber system). Solids are removed from the basins, as needed. The basins(s) will be deactivated if the asphalt plant is moved or removed from service.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before October 25 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-14-247/251, KS-Q-14-157/162, KS-NQ-14-006/008) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of health and environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

> Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042916

State of Kansas Department for Aging and Disability Services

Request for Proposals

The Kansas Department for Aging and Disability Services (KDADS), Behavioral Health Services, announces the release of a request for proposals to provide early episode serious mental illness (SMI) interventions, including early psychotic disorders. Eligible applicants are community mental health centers (CMHC) and regional recovery centers (RRC).

Congress increased FY 2014 funds to the Mental Health Block Grant (MHBG) state programs by 5 percent, and required the new funds be applied to early SMI interventions. The funding is to be dedicated to provide supports and services for those with "early serious mental illness" and not for primary prevention or preventive interventions for those at risk of serious mental illness. Funding will be used to build a Coordinated Specialty Care (CSC) Early Intervention Team (EIT) to support early detection and intervention. The EIT will support meeting the needs of persons with early psychotic disorders, specifically first episode psychosis between the ages of 15 to 25. Early intervention programs are designed to bridge existing services for these groups and eliminate gaps between child, adolescent and adult mental health programs.

Funds shall be used solely for the development of a community or regional EIT that will support prevention of psychotic disorders by early detection and intervention. The EIT design should include early intervention, coordinated specialty care and a team-based approach. Component interventions should include intensive case management, individual or group psychotherapy, supported employment, education services, family education and support, and low doses of select antipsychotic agents. EIT will support meeting the needs of persons with early psychotic disorders, specifically first episode psychosis, for individuals between the ages of 15 to 25. The proposal should describe how funds will be utilized to meet the needs specific to the above-mentioned targeted population.

Applications shall be delivered by 5 p.m. (CDT) October 14, 2014. Applicants are required to submit the original application and four copies addressed to George VanHoozer, KDADS, 503 S. Kansas Ave., Topeka, 66603, and one electronic copy to George.VanHoozer@kdads.ks.gov.

> Kari Bruffett Secretary for Aging and **Disability Services**

Kansas Register

995

(Published in the Kansas Register September 25, 2014.)

City of Wellington, Kansas

Notice of Intent to Seek Private Placement General Obligation Bonds, Series 2014

Notice is hereby given that the city of Wellington, Kansas (the issuer), proposes to seek a private placement of the above-referenced bonds. The maximum aggregate principal amount of the bonds shall not exceed \$453,000*. The proposed sale of the bonds is in all respects subject to approval of a bond purchase agreement between the issuer and the purchaser of the bonds and the passage of an ordinance and adoption of a resolution by the governing body of the issuer authorizing the issuance of the bonds and the execution of various documents necessary to deliver the bonds.

Dated September 16, 2014.

Shane Shields City Clerk

Doc. No. 042921

(Published in the Kansas Register September 25, 2014.)

Summary Notice of Bond Sale City of Mulvane, Kansas Public Building Commission \$4,200,000 Revenue Bonds Series 2014

Details of the Sale

Subject to the terms and requirements of the Official Notice of Bond Sale dated September 18, 2014, of the city of Mulvane, Kansas, Public Building Commission, bids to purchase the commission's Revenue Bonds, Series 2014, will be received on behalf of the governing body of the commission at the office of the city clerk, 211 N. 2nd, Mulvane, KS 67110, or by telefacsimile at 316-777-4081 or electronically through the i-DEAL, LLC BiDCOMP/PARITY electronic bid submission system, until 2 p.m. central time Monday, October 6, 2014. The bids will be considered by the governing body at its meeting at 7:30 p.m. on the sale date.

No oral or auction bids for the bonds shall be considered, and no bids for less than 99.0 percent of the total principal amount of the bonds and accrued interest to the date of delivery shall be considered.

Good Faith Deposit

No good faith deposit will be required.

Details of the Bonds

The bonds are dated October 30, 2014, and will be issued as registered bonds in the denomination of \$5,000 or any integral multiple thereof. Interest on the bonds is payable semiannually on June 1 and December 1 of each year, beginning June 1, 2015. Principal of the bonds becomes due on December 1 in the years and amounts as shown below:

Maturity Schedule		
Principal Amount	Maturity Date	
\$390,000	2015	
395,000	2016	
400,000	2017	
405,000	2018	
410,000	2019	
420,000	2020	
430,000	2021	
440,000	2022	
450,000	2023	
460,000	2024	

Maturity Schodula

Payment of Principal and Interest

The Kansas State Treasurer will serve as the bond registrar and paying agent for the bonds.

Book-Entry Bonds

The bonds will be issued and registered under a bookentry-only system administered by the Depository Trust Company, New York, New York (DTC).

Delivery of the Bonds

The commission will prepare the bonds at the city's expense and will deliver the registered bonds to DTC on or about October 30, 2014.

Legal Opinion

The bonds will be sold subject to the legal opinion of Triplett, Woolf & Garretson, LLC, Wichita, Kansas, bond counsel, whose fees will be paid by the commission from bond proceeds or other city funds.

Financial Matters

The city of Mulvane's current assessed valuation for purposes of calculating statutory debt limitations is \$81,043,209. As of September 24, 2014, the city of Mulvane's total outstanding general obligation debt is \$37,077,000. The city's total indebtedness that is subject to debt limitation, as of September 24, 2014, is estimated to be \$3,681,007.76, which is 4.54 percent of the assessed valuation of the city. The bonds of the commission will not be subject to such limitation.

Additional Information

For additional information contact the secretary at the address and telephone number shown below, or the city's financial advisor, Central States Capital Markets, LLC, Attn: Mark Detter, 245 N. Waco, Suite 525, Wichita, KS 67202, 316-265-9411.

City of Mulvane, Kansas Public Building Commission By Patty Gerwick, Secretary City Hall, 211 N. 2nd Mulvane, KS 67110 316-777-1143 Fax: 316-777-4081

State of Kansas Real Estate Appraisal Board

Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted at 10 a.m. Tuesday, November 25, in Suite 804 of the Jayhawk Tower, 700 S.W. Jackson, Topeka, to consider the adoption of K.A.R. 117-2-1, 117-2-2, 117-2-2a, 117-2-3, 117-3-1, 117-3-2, 117-3-2a, 117-3-3, 117-4-1, 117-4-2, 117-4-2a, 117-4-3, 117-5-1, 117-5-2, 117-5-2a, 117-6-1, 117-6-2 and 117-6-3.

This 60-day notice of public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed regulations. All interested parties may submit written comments prior to the hearing to the Kansas Real Estate Appraisal Board, Suite 804, Jayhawk Tower, 700 S.W. Jackson, Topeka, 66603, or by email to cheryl.magathan@kreab.ks.gov. All interested parties will be given a reasonable opportunity to present their views orally on the adoption of the proposed regulations during the hearing. In order to give all parties an opportunity to present their views, it may be necessary to request each participant to limit any oral presentation to five minutes.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statement in an accessible format. Requests for accommodation should be made at least five working days in advance of the hearing by contacting Sally Pritchett at 785-296-6736 or cheryl.magathan@kreab.ks.gov.

The proposed regulation amendments are for adoption on a permanent basis. A summary of the proposed amendments to the regulations and the economic impact follows:

These regulations will set in place the 2015 criteria changes as established by the Appraisal Standards Board, an independent board of The Appraisal Foundation, which, under the provisions of Title XI of the Financial Institutions Reform, Recovery and Enforcement Act of 1989 (FIRREA), establishes the minimum education, experience and examination requirements for real property appraisers to obtain a state license/certification.

117-2-1. Licensed classification; education requirements. There will be an economic impact as follows: Public-applicants seeking to secure a state license classification will be required to meet a minimum 30 hours of college-level education. Area colleges vary greatly in their costs per credit hour, but an average of \$250 per hour would increase the cost to a new applicant by \$7,500. Real Estate Appraisal Board: It is anticipated that there will be a decrease in the number of applications received annually (\$50 per application); however, no statistics are available on which to estimate a total loss. There will be no economic impact to appraisers, other governmental agencies or units.

117-2-2. State licensed real property appraiser classification; appraisal experience requirement. There will be an economic impact to the public in that the addition of a required supervisor/trainee course will increase the cost of pre-license education. At approximately \$20 per hour

and the average course running seven hours in length, the cost is estimated to be \$140 per trainee. There will be no economic impact to appraisers, this agency, or other governmental agencies or units.

117-2-2a. Licensed classification; experience supervision requirements. Although supervisors will be required to complete the supervisor/trainee course, it is a one-time cost and each supervisor completing the course may use it to meet a portion of their biennial continuing education requirement. There is no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-2-3. Licensed classification; examination require-ment. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-3-1. General classification; education require-ments. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-3-2. Certified general real property appraiser classification; appraisal experience requirement. The addition of a required supervisor/trainee course will increase the cost of pre-license education. At approximately \$20 per hour and the average course running seven hours in length, the cost is estimated to be \$140 per trainee. There will be no economic impact to appraisers, this agency, other governmental agencies or units, or to the public.

117-3-2a. General classification; experience supervision requirements. Although supervisors will be required to complete the supervisor/trainee course, it is a one-time cost and each appraiser completing the course may use it to meet a portion of their biennial continuing education requirement, representing no additional cost. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-3-3. General classification; examination requirement. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-4-1. Residential classification; education requirements. The increase from an associate's degree to a bachelor's degree will increase the cost of the college-level education requirement. At an average cost of \$250 per credit hour, this would increase the cost to a new applicant by \$16,000. There will be no economic impact to appraisers, this agency, or other governmental agencies or units.

117-4-2. Certified residential real property appraiser classification; appraisal experience requirement. The addition of a required supervisor/trainee course will increase the cost of pre-license education. At approximately \$20 per hour and the average course running seven hours in length, the cost is estimated to be \$140 per trainee. Although supervisors will also be required to complete the supervisor/trainee course, it is a one-time cost and each appraiser completing the course may use it to meet a portion of their biennial continuing education requirement. There will be no economic impact to appraisers, this agency, or other governmental agencies or units.

117-4-2a. Residential classification; experience super-vision requirements. Although supervisors will also be required to complete the supervisor/trainee course, it is a

one-time cost and each appraiser completing the course may use it to meet a portion of their biennial continuing education requirement, representing no additional cost. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-4-3. Residential classification; examination requirement. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-5-1. Provisional classification; education requirements. Any economic impact will vary based upon the license type the applicant is provisioning to. For costs, reference K.A.R. 117-2-1, 117-3-1 or 117-4-1.

117-5-2. State provisional licensed real property appraiser classification; supervised experience requirements. The addition of a required supervisor/trainee course will increase the cost of pre-license education. At approximately \$20 per hour and the average course running seven hours in length, the cost is estimated to be \$140 per trainee. Although supervisors will also be required to complete the supervisor/trainee course, it is a one-time cost and each appraiser completing the course may use it to meet a portion of their biennial continuing education requirement. There will be no economic impact to appraisers, this agency, or other governmental agencies or units.

117-5-2a. Provisional classification; supervisor requirements. Although supervisors will also be required to complete the supervisor/trainee course, it is a one-time cost and each appraiser completing the course may use it to meet a portion of their biennial continuing education requirement, representing no additional cost. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-6-1. Continuing education; renewal requirements. In removing the requirement that an appraiser licensed less than 184 days take a minimum of two hours of continuing education at their first renewal, the appraisers will see a savings of approximately \$40 (average cost of \$20 per hour). There will no economic impact to the public, this agency, or other governmental agencies or units.

117-6-2. Continuing education; approval of courses; requirements. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

117-6-3. Education; obtaining course approval. There will be no economic impact to the public, appraisers, this agency, or other governmental agencies or units.

Copies of the regulations and the economic impact statement may be obtained by contacting the Kansas Real Estate Appraisal Board at 785-296-6736, by fax at 785-368-6443 or by email at cheryl.magathan@kreab.ks.gov, or from the board's website at http://www.kansas.gov/kreab.

> Sally Pritchett Executive Director

Doc. No. 042914

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2013 Supp. 12-1675(b)(c)(d) and K.S.A. 2013 Supp. 12-1675a(g).

Effective 9-22-14 thro	ugh 9-28-14
Term	Rate
1-89 days	0.09%
3 months	0.01%
6 months	0.03%
12 months	0.11%
18 months	0.36%
2 years	0.62%

Scott Miller Director of Investments

Doc. No. 042901

State of Kansas

Agricultural Remediation Board

Notice of Hearing on Proposed Administrative Regulation

The Kansas Agricultural Remediation Board will conduct a public hearing at 10 a.m. Thursday, December 4, in the conference room of the Tom R. Tunnell Building, 816 S.W. Tyler, Topeka, to consider the adoption of a proposed amended regulation.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed rule and regulation. All interested parties may submit written comments prior to the hearing to the chairman of the board, 816 S.W. Tyler, Topeka, 66612, or by email at randy@ kansasag.org. During the hearing, all interested parties will be given a reasonable opportunity to present their views orally on the adoption of the proposed regulation. In order to give all parties an opportunity to present their views, it may be necessary to request that each participant limit any oral presentation to five minutes.

Copies of the regulation and the economic impact statement may be obtained by contacting Randy Stookey at 785-234-0461. The regulation is proposed for adoption on a permanent basis.

Summary of the proposed regulation:

K.A.R. 125-1-7. Eligible corrective action costs; exclusions. In order for the board to satisfy the purpose of the remediation reimbursement program of reimbursing eligible parties for agricultural remediation expenses, the proposed amendment limits the total amount of reimbursement from the agricultural remediation fund for any one site to \$200,000, except that if the property has been sold or leased and both the buyer and seller (or lessee and lessor) are responsible for the site remediation costs, then the total amount of reimbursement shall be limited to \$400,000. Grammatical amendments were requested by (continued)

Hearing/Regulations

the Department of Administration and the attorney general's office to bring the regulation in line with current customs and usage.

Economic impact upon the Kansas Agricultural Remediation Board:

The proposed changes will likely increase administrative costs required to reimburse additional applicants from the agricultural remediation fund.

Economic impact upon other governmental agencies, private business or individuals:

The proposed changes will have no fiscal impact upon other governmental agencies. The proposed changes to K.A.R. 125-1-7 will have a positive impact on all applicants to the fund that would not have otherwise received reimbursement for costs associated with ag-chemical environmental remediation efforts, as the limited amount of money in the fund will be paid out to a greater number of applicants. This will provide additional applicants with the necessary funds to continue their environmental remediation efforts, furthering the purpose of the agricultural and specialty chemical remediation act. The proposed changes to K.A.R. 125-1-7 may have a negative impact on any applicant who has already received \$200,000 from the fund and will not be eligible for further reimbursement.

Individuals with a disability may request accommodation in order to participate in the public hearing. Such requests should be made at least five working days before the hearing by contacting Randy Stookey.

> Larry Shivers Chairman

Doc. No. 042913

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3356. "Franklin's Fortunes" instant ticket lottery game number 459. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Franklin's Fortunes." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3356.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV

13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON
22	TWYTW
23	TWYTH
24	TWYFR
25	TWYFV
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
35	THYFV
36	THYSX
37	THYSV
38	THYET
39	THYNI
40	FORTY
Symbol of a coin	AUTO
Symbol of a gold bar	DOUBLE
Prize Symbols	Captions
\$1 ^{.00}	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$15 ^{.00}	FIFTN\$
\$20.00	TWENTY
\$30 ^{.00}	THIRTY
\$50.00	FIFTY
\$100	ONEHUN

 \$10⁻⁰⁰
 TEN\$

 \$10⁻⁰⁰
 FIFTN\$

 \$20⁻⁰⁰
 FIFTN\$

 \$20⁻⁰⁰
 TWENTY

 \$30⁻⁰⁰
 THIRTY

 \$50⁻⁰⁰
 FIFTY

 \$100
 ONEHUN

 \$400
 FORHUN

 \$500
 FIVHUN

 \$500
 FIVHUN

 \$500
 FIVHUN

 \$5,000
 ONETHO

 \$25,000
 25-THOU

(c) For this game, a play/prize symbol shall appear in 45 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.

(e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.

(f) "Franklin's Fortunes" is a key number match game. A player will scratch the play area to reveal five "WIN-NING NUMBERS" and 20 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUM-BERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount associated with the "YOUR NUMBER." If the player reveals a "COIN" symbol, the player wins the prize amount shown for that symbol automatically. If the player reveals a "GOLD BAR" symbol,

Kansas Register _

the player wins double the prize amount shown for that symbol.

(g) Each ticket in this game may win up to 20 times.

(h) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$1 + \$2 w/GOLD BAR	\$5	30,000	\$150,000
(\$1 x 5)	\$5 \$5	30,000	150,000
\$5	\$5 \$5	20,000	100,000
\$5 w/GOLD BAR	\$10	20,000	200,000
(\$2 x 5)	\$10 \$10	10,000	100,000
\$10	\$10 \$10	10,000	100,000
(\$1 x 5) + \$5 w/GOLD BAR	\$15	10,000	150,000
(\$5 x 3)	\$15 \$15	10,000	150,000
\$15	\$15	10,000	150,000
(\$5 w/GOLD BAR x 2)	\$20	2,500	50,000
(\$1 x 20)	\$20	2,500	50,000
(\$10 x 2)	\$20	2,500	50,000
\$20	\$20	2,500	50,000
\$5 w/GOLD BAR + \$10	+=-	_)= = =	,
w/GOLD BAR	\$30	600	18,000
(\$2 x 15)	\$30	500	15,000
(\$10 x 3)	\$30	500	15,000
\$30	\$30	500	15,000
\$5 w/GOLD BAR + \$20	1		,,
w/GOLD BAR	\$50	500	25,000
(\$5 x 10)	\$50	500	25,000
\$10 + (\$20 x 2)	\$50	500	25,000
\$50	\$50	250	12,500
(\$10 w/GOLD BAR x 5)	\$100	125	12,500
(\$5 x 20)	\$100	125	12,500
(\$20 x 5)	\$100	125	12,500
\$100	\$100	125	12,500
(\$20 x/GOLD BAR x 10)	\$400	50	20,000
(\$50 x 8)	\$400	50	20,000
(\$100 x 4)	\$400	50	20,000
\$400	\$400	40	16,000
(\$50 w/GOLD BAR x 10)	\$1,000	15	15,000
(\$50 x 20)	\$1,000	10	10,000
\$1,000	\$1,000	10	10,000
\$500 w/GOLD BAR + (\$1,000			
w/GOLD BAR x 2)	\$5,000	5	25,000
\$5,000	\$5,000	5	25,000
(\$1,000 x 5) + (\$5,000			
w/GOLD BAR x 2)	\$25,000	3	75,000
\$25,000	\$25,000	3	75,000
TOTAL		164,591	\$1,961,500

(GOLD BAR denotes doubler symbol)

(j) The odds of winning a prize in this game are approximately one in 3.65. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3357. "Sports Frenzy" instant ticket lottery game number 596. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Sports Frenzy." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3357.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play Symbols	Captions
01	ONE
03	THR
04	FOR
05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
2X	DBL
Prize Symbols	Captions
FREE	TICKET
\$2 .00	TWO\$
\$4 .00	FOUR\$
\$5 .00	FIVE\$
10.00	TEN\$
25.00	TWEN-FIV
50.00	FIFTY
\$100	ONE-HUN
\$1000	ONETHOU
\$10000	10-THOU

(c) For this game, a play/prize symbol shall appear in 33 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Sports Frenzy" is a key number match game with a doubler feature. A player will scratch the play area to reveal three "WINNING NUMBERS" and 15 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUM-BERS," the player wins the prize amount shown below that number. If the player reveals a "2X" symbol, the player wins double the prize amount shown for that symbol.

(g) Each ticket in this game may win up to 15 times.

(h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall (continued) have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

	р.	Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
FREE	Free Ticket	160,000	\$0
\$2	\$2	80,000	160,000
\$4	\$4	16,000	64,000
\$2 DBL	\$4	16,000	64,000
\$5	\$5	22,000	110,000
\$10	\$10	6,000	60,000
\$5 DBL	\$10	6,000	60,000
(\$2 x 5)	\$10	6,000	60,000
\$4 DBL + \$2	\$10	6,000	60,000
\$25	\$25	4,000	100,000
(\$5 x 5)	\$25	4,000	100,000
\$10 DBL + \$5	\$25	4,000	100,000
\$50	\$50	1,000	50,000
(\$5 x 8) + \$10	\$50	1,200	60,000
$(\$4 \times 10) + (\$2 \times 5)$	\$50	1,000	50,000
\$25 DBL	\$50	1,040	52,000
\$100	\$100	60	6,000
(\$50 x 2)	\$100	60	6,000
(\$5 x 10) + (\$25 x 2)	\$100	80	8,000
(\$10 x 10)	\$100	80	8,000
\$1,000	\$1,000	16	16,000
(\$25 x 4) + \$50 DBL +			
(\$5 x 4) + (\$100 x 6)	\$1,000	16	16,000
\$10,000	\$10,000	8	80,000
TOTAL		\$334,560	\$1,290,000

(j) The odds of winning a prize in this game are approximately one in 3.59. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3358. "Craters of Coins" instant ticket lottery game number 661. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Craters of Cash." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3358.

(b) The "play and prize symbols" and "captions" for this game are as follows:

ine are as rono was		1 1
Play Symbols	Captions	were co
1	ONE	(i) Th this gar
2	TWO	uns gai
3	THREE	
4	FOUR	
5	FIVE	\$2 FREE
6	SIX	\$2
7	SEVEN	(\$2 x 2)
8	EIGHT	\$4 \$5
9	NINE	\$3 (\$2 x 5)
10	TEN	$(\$4 \times 2) +$
11	ELEVN	\$10
12	TWELV	(\$5 x 3)
13	THRTN	(\$2 x 5) + \$15
14	FORTN	(\$2 x 10)
15	FIFTN	(\$5 x 4)
16	SIXTN	\$20
17	SEVTN	\$25 (BILI (\$5 x 10)
18	EGHTN	$(\$2 \times 5) +$
19	NINTN	\$25 (BILI

20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
Symbol of a bill	WIN\$25
Prize Symbols	Captions
FREE	\$2 TICKET
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTN\$
\$20 ^{.00}	TWENTY
\$25 .00	TWEN-FIV
\$50.00	FIFTY
\$100	HUNDRED
\$250	TWO-FTY
\$500	FIV-HUN
\$10,000	TEN-THO

(c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) In "Crater of Coins," the player will scratch the play area to reveal two "WINNING NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches either of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "BILL" symbol, the player wins \$25 instantly.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
\$2 FREE TICKET	Free Ticket	168,000	\$0
\$2	\$2	108,000	216,000
(\$2 x 2)	\$4	48,000	192,000
\$4	\$4	12,000	48,000
\$5	\$5	36,000	180,000
(\$2 x 5)	\$10	15,000	150,000
(\$4 x 2) + \$2	\$10	15,000	150,000
\$10	\$10	6,000	60,000
(\$5 x 3)	\$15	9,600	144,000
(\$2 x 5) + \$5	\$15	4,800	72,000
\$15	\$15	600	9,000
(\$2 x 10)	\$20	6,000	120,000
(\$5 x 4)	\$20	6,000	120,000
\$20	\$20	3,000	60,000
\$25 (BILL)	\$25	7,200	180,000
(\$5 x 10)	\$50	960	48,000
$(\$2 \times 5) + (\$10 \times 4)$	\$50	720	36,000
\$25 (BILL) x 2)	\$50	1,200	60,000

© Kansas Secretary of State 2014

Regulations

\$50	\$50	120	6,000
\$25 (BILL) x 4)	\$100	540	54,000
\$100	\$100	60	6,000
\$25 (BILL) x 10	\$250	96	24,000
\$250	\$250	24	6,000
(\$100 x 3) + (\$25 (BILL)			
x 6) + \$50	\$500	36	18,000
\$500	\$500	12	6,000
\$10,000	\$10,000	6	60,000
TOTAL		448,974	\$2,025,000
			1 / 2 2 / 2 2 2

(j) The odds of winning a prize in this game are approximately one in 4.01. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3359. "Great 8's" instant ticket lottery game number 662. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Great 8's." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3359.

(b) The "play and prize symbols" and "captions" for this game are as follows:

this game are as follows:	
Play Symbols	Captions
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
9	NINE
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SEVTN
19	NINTN
20	TWENTY
21	TWONE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
Symbol of an 8 (outlined)	WIN
Symbol of an 88 (outlined)	WIN2X
Prize Symbols	Captions
FREE	\$2 TICKET
\$2 ^{.00}	TWO\$
\$4 .00	FOUR\$
\$5 ^{.00}	FIVE\$
\$10.00	TEN\$
\$15.00	FIFTN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$50.00	FIFTY
\$100	HUNDRED
\$250	TWO-FTY
\$500	FIV-HUN
\$8,888	EGTHEGEG

(c) For this game, a play/prize symbol shall appear in 20 play spots within the play area or areas.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) In "Great 8's," the player will scratch the play area to reveal 10 play symbols with a corresponding prize amount. If the player reveals an "8" symbol, the player wins the corresponding prize associated with that symbol. If the player reveals an "88" symbol, the player wins double the corresponding prize associated with that symbol.

(g) Each ticket in this game may win up to 10 times.

(h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
\$2 FREE TICKET	Free Ticket	168,000	\$0
\$2	\$2	108,000	216,000
\$2 (DBLR)	\$4	48,000	192,000
\$4	\$4	12,000	48,000
\$5	\$5	36,000	180,000
\$5 (DBLR)	\$10	15,000	150,000
\$4 (DBLR) + \$2	\$10	15,000	150,000
\$10	\$10	6,000	60,000
\$5 (DBLR) + \$5	\$15	9,600	144,000
(\$2 x 5) + \$5	\$15	4,800	72,000
\$15	\$15	600	9,000
\$10 (DBLR)	\$20	6,000	120,000
\$5 (DBLR) + \$10	\$20	6,000	120,000
\$20	\$20	3,000	60,000
(\$4 x 5)+ \$5 (DBLR)	\$30	4,800	144,000
\$30	\$30	1,200	36,000
\$20 (DBLR) + \$10	\$50	720	36,000
(\$2 x 5) + (\$5 (DBLR) x 4)	\$50	2,160	108,000
\$50	\$50	120	6,000
(\$5 (DBLR) x 10)	\$100	540	54,000
\$100	\$100	60	6,000
\$50 (DBLR) + (\$20 x 6)			
+ (\$10 x 3)	\$250	96	24,000
\$250	\$250	24	6,000
(\$50 (DBLR) x 2) +			
$(\$100 \ge 2) + (\$20 \ge 4)$			
+ (\$10 x 2)	\$500	36	18,000
\$250 (DBLR)	\$500	12	6,000
\$500	\$500	12	6,000
\$8,888	\$8,888	6	53,328
TOTAL		447,786	\$2,024,328

(j) The odds of winning a prize in this game are approximately one in 4.02. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3360. "Bonus Cash Crossword" instant ticket lottery game number 676. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Bonus Cash Crossword." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3360.

(continued)

Vol. 33, No. 39, September 25, 2014

(b) The grid play symbols for this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P -Q - R - S - T - U - V - W - X - Y - Z. There are no grid play symbol captions in this game.

The "YÔUR LETTERS" play symbols for this game are outlined as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q - R - S - T - U - V - W - X - Y - Z. There are no "YOUR LETTERS" captions in this game.

The "BONUS CASH" play symbols and captions for this game are as follows:

Play Symbols	Captions
Symbol of a glove	GLOVE
Symbol of a scarf	SCARF
Symbol of a Santa	SANTA
Symbol of a sleigh	SLEIGH
Symbol of a chimney	CHIMNEY
Symbol of holly leaves	HOLLY

(c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR LETTERS" play area, in each of three play spots within the "BONUS" play area, and a variable number of times within the crossword puzzle grid.

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.

(e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.

(f) "Bonus Cash Crossword" consists of two separate games. The "Crossword" game appears in the upper part of the ticket where there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. Imaged around each of the 18 "YOUR LETTERS" there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" play area one letter at a time, and then for each matching letter in the crossword puzzle grid scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" play area may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least two complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend shown on the front of the ticket. The prize legend on the front of the ticket indicates prizes won for number of words revealed.

In the "BONUS" game at the bottom of the ticket, the player will scratch the play area to reveal three symbols. If the player reveals three identical symbols, the player wins \$25 instantly.

(g) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:

(1) must contain at least three letters;

(2) cannot be formed diagonally, run right to left or from bottom to top;

(3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;

(4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces; (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS" area and be included to form a word; and

(h) Each ticket in this game may win up to two times. Only the highest prize won in the "Crossword" game on each ticket will be awarded.

(i) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 150,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

Match	Prizes	Expected Number of Prizes in Game	Expected Value in Game
2 WORDS	Free Ticket	276,000	\$0
3 WORDS	\$4	72,000	288,000
4 WORDS	\$5	36,000	180,000
5 WORDS	\$10	48,000	480,000
6 WORDS	\$20	6,000	120,000
\$25 BONUS	\$25	12,000	300,000
4 WORDS + \$25 BONUS	\$30	3,000	90,000
5 WORDS + \$25 BONUS	\$35	3,000	105,000
6 WORDS + \$25 BONUS	\$45	1,800	81,000
7 WORDS	\$50	1,200	60,000
7 WORDS + \$25 BONUS	\$75	600	45,000
8 WORDS	\$100	324	32,400
8 WORDS + \$25 BONUS	\$125	300	37,500
9 WORDS	\$1,000	12	12,000
10 WORDS	\$20,000	3	60,000
TOTAL		460,239	\$1,890,900

(k) The odds of winning a prize in this game are approximately one in 3.91. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3361. "Tic Tac Snow" instant ticket lottery game number 678. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Tic Tac Snow." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3361.

(b) The "play and prize symbols" and "captions" for this game are as follows:

0	
Play Symbols	Captions
Symbol of a scarf	SCARF
Symbol of a Santa	SANTA
Symbol of a reindeer	DEER
Symbol of a tree	TREE
Symbol of a sleigh	SLEIGH
Symbol of a snowflake	SNOFLK
TRY	AGAIN
Prize Symbols	Captions
\$1 .00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	HUNDRED
\$1,000	ONE THO

(c) For this game, a play/prize symbol shall appear in 10 play spots within the play area or areas.

16

17

18

19

20

21

(d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.

(e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.

(f) The "Tic Tac Snow" ticket features two games. The player will scratch the tic-tac-toe play area to reveal nine play symbols. If the player reveals three matching play symbols in a single row, column, or diagonal line, the player wins the corresponding prize shown on the ticket front for the row, column, or diagonal line.

In the "BONUS play area, if a player reveals a prize amount, the player wins the prize amount shown.

(g) Each ticket in this game may win up to TWO times. (h) Approximately 1,800,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

		Prize	Expected Number of Prizes in Game	Expected Value in Game
\$1 or	\$1	\$1	282,000	\$282,000
\$2 or	\$2	\$2	18,000	36,000
\$1	\$1	\$2	54,000	108,000
\$5 or	\$5	\$5	33,600	168,000
\$10 or	\$10	\$10	7,200	72,000
\$5	\$5	\$10	10,800	108,000
\$20 or	\$20	\$20	600	12,000
\$10	\$10	\$20	5,400	108,000
\$50 or	\$50	\$50	2,172	108,600
\$100 or	\$100	\$100	120	12,000
\$50	\$50	\$100	240	24,000
\$1,000 or	\$1,000	\$1,000	18	18,000
			414,150	\$1,056,600

(j) The odds of winning a prize in this game are approximately one in 4.35. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

111-4-3362. "The Big Money Game" instant ticket lottery game number 679. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Big Money Game." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3362.

(b) The "play and prize symbols" and "captions" for this game are as follows:

ine die do fonowo:		\$20.00	TWENTY
Play Symbols	Captions	\$25.00	TWEN-FIV
1	ONE	\$30.00	THIRTY
2	TWO	\$40.00	FORTY
3	THREE	\$50.00	FIFTY
4	FOUR	\$75.00	SEV-FIV
5	FIVE	\$100	HUNDRED
6	SIX	\$500	FIV-HUN
7	SEVEN	\$1,000	ONE-THO
8	EIGHT	\$100,000	HUNTHO
9	NINE	(c) For this game, a play	/prize symbol shall appear in
10	TEN	69 play spots within the pla	av area or areas.
11	ELEVN		n each book of tickets in this
12	TWELV	game shall start with 000 a	
13	THRTN		ckets sold by a retailer for this
14	FORTN	game shall be \$20.00 each.	
15	FIFTN	0	(continued)

00	108,000	
00	168,000	
00	72,000	
00	108,000	
00	12,000	
00	108,000	
72	108,600	
20	12,000	Sum
40	24,000	Syml
18	18,000	Symbol o
50	\$1,056,600	Symb
	<u> </u>	Symbol of
	ame are ap-	Symbol
ed by	K.S.A. 2013	Symbol
	pp. 74-8710,	Symbo
-010 Du	PP. 1 I 0/ 10/	Sumbo

21	IVOINE
22	TWTWO
23	TWTHR
24	TWFOR
25	TWFIV
26	TWSIX
27	TWSEV
28	TWEGT
29	TWNIN
30	THIRTY
31	THONE
32	THTWO
33	THTHR
34	THFOR
35	THFIV
36	THSIX
37	THSEV
38	THEGT
39	THNIN
40	FORTY
41	
	FRONE
42	FRTWO
43	FRTHR
44	FRFOR
45	FRFIV
Symbol of a star	WIN2X
Symbol of a stack of cash	WIN5X
Symbol of a bugle	BUGLE
Symbol of a treasure chest	CHEST
	WISHBON
Symbol of a wishbone	
Symbol of a firecracker	FIRECRK
Symbol of fireworks	FIREWKS
Symbol of the moon	MOON
Symbol of a horseshoe	-SHOE-
Symbol of a rainbow	RAINBW
Prize Symbols	Captions
FREE	\$20 TICKET
\$5.00	FIVE\$
\$10.00	TEN\$
\$20 .00	TWENTY
\$25 ^{.00}	TWEN-FIV
\$30.00	THIRTY
$$40^{.00}$	FORTY
\$50.00	FIFTY
\$75 ^{.00}	SEV-FIV
\$100	HUNDRED
\$500	FIV-HUN

1003

SIXTN

SEVTN

EGHTN

NINTN

TWENTY

TWONE

(f) In "The Big Money Game," the player will scratch the play area to reveal six "WINNING NUMBERS" and 30 "YOUR NUMBERS" with a prize amount shown below each of the "YOUR NUMBERS." If the player matches any of the "WINNING NUMBERS" to any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If the player reveals a "STAR" symbol, the player wins double the prize amount shown for that symbol. If the player reveals a "STACK OF CASH" symbol, the player wins five times the prize amount shown for that symbol.

The player will scratch the bonus area to reveal two play symbols and a prize amount. If the two play symbols match, the player wins the prize amount shown for the bonus play area.

(g) Each ticket in this game may win up to 31 times.

(h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(i) The expected number and value of instant prizes in this game shall be as follows:

-		Expected Number of	Expected Value
	Prize	Prizes in Game	in Game
Free \$20 Ticket	Free Ticket	20,000	\$0
\$20	\$20	5,000	100,000
(\$10 x 2)	\$20	5,000	100,000
\$10 + (\$5 x 2)	\$20	10,000	200,000
\$10 (STAR)	\$20	20,000	400,000
(\$5 x 4)	\$20	5,000	100,000
\$25	\$25	9,000	225,000
\$30	\$30	1,000	30,000
(\$5 (STAR) x 3)	\$30	6,000	180,000
(\$5 x 6)	\$30	3,000	90,000
\$40	\$40	1,000	40,000
\$20 (STAR)	\$40	2,000	80,000
(\$10 (STAR)) + (\$10 x 2)	\$40	4,000	160,000
(\$5 x 4) + (\$10 x 2)	\$40	3,000	120,000
\$50	\$50	1,000	50,000
(\$20 (STAR)) + (\$5 x 2)	\$50	2,000	100,000
(\$10 x 3) + (\$5 (STAR) x 2)	\$50	3,000	150,000
\$20 + \$30	\$50	2,000	100,000
(\$5 x 10)	\$50	2,000	100,000
\$75	\$75	200	15,000
(\$25 x 3)	\$75	800	60,000
(\$5 x 3) + (\$10 (STAR) x 2)			
+ \$20	\$75	250	18,750
\$100	\$100	200	20,000
(\$50 x 2)	\$100	800	80,000
\$10 (BILLS) + (\$10 x 5)	\$100	4,000	400,000
\$500	\$500	100	50,000
\$50 (BILLS) + \$30 +			
(\$100 (STAR)) + \$20	\$500	300	150,000
\$100 (BILLS)	\$500	200	100,000
\$20 (BILLS) x 2) +			
(\$5 (BILLS) x 4) +			
(\$10 (BILLS) x 2) + \$100	\$500	600	300,000
\$1,000	\$1,000	50	50,000
\$100 (BILLS) + \$500	\$1,000	150	150,000
\$1,000 (BILLS) + \$1,000			
(STAR) + (\$500 (STAR) x 3)	\$10,000	2	20,000
(\$100 (BILLS) x 15) + (\$20			
(BILLS) x 15) + \$1,000	\$10,000	3	30,000
\$100,000	\$100,000	2	200,000
TOTAL		111,657	\$3,968,750

(j) The odds of winning a prize in this game are approximately one in 2.69. (Authorized by K.S.A. 2013

Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-9-4-14, Aug. 13, 2014.)

Article 15.—RAFFLE GAMES

111-15-1. Name of the game; rules and regulations. The Kansas lottery may conduct a lotto game entitled "Holiday Millionaire Raffle" beginning at 5:00 a.m. September 5, 2014, for a drawing to be conducted on December 31, 2014.

The rules and regulations for the "Holiday Millionaire Raffle" game are contained in K.A.R. 111-15-1 through 111-15-11 and K.A.R. 111-15-21, and applicable generic rules are contained in K.A.R. 111-6-1 *et seq.* (Authorized by and implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-12-7-10, Sept. 8, 2010; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014.)

111-15-2. Definitions. The following definitions shall apply to the "Holiday Millionaire Raffle" game:

(a) "Available ticket(s)" or "ticket(s) available for sale" means one or any number of tickets from one through 175,000 that is available to sell during the "Holiday Millionaire Raffle" game.

(b) "Check-A-Ticket Machine" means an electronic machine operated by the Kansas lottery for the purpose of determining whether or not an online ticket is a winning ticket.

(c) "Computer pick" or "quick pick" means the selection of a six-digit number by the computer system, which appears on a ticket and is played by a player in the game. This is the only type of ticket sold by a retailer for the game.

(d) "Drawing" means the formal process of selecting winning numbers which determine the number of winners for each prize level of the game.

(e) "Early Bird Drawings" means a series of drawings for prizes to be held on October 12, 19, and 26, 2014, and November 2 and 9, 2014, before final raffle drawings on December 31, 2014.

(f) "Electronic drawing machine" or "random number generator" means the electronic device approved by the executive director of the Kansas lottery to electronically select the winning numbers for this drawing.

(g) "Game ticket" or "ticket" means a computer generated ticket issued by a terminal to a person as a receipt for the ticket a person has purchased.

(h) "Online lottery game" means a lottery game connected by telephone lines, satellite, radio, or other similar communication methodology, owned or controlled by the lottery, to a central computer in which each player selects numbers out of a larger predetermined set or sets of numbers.

(i) "Order drawn" means the sequential order in which a "WINNING" ticket or tickets are selected during the drawing process.

(j) "Pari-mutuel prize" means all prizes that are advertised to be paid by a single cash payment as outlined in these rules, shall be paid on a pari-mutuel basis as a cash lump sum payment of the total cash held for all tickets sold in this game.

(k) "Retailer" or "agent" means a person or entity authorized by the Kansas lottery to sell lottery tickets.

(l) "Serial number" means the identifying number printed on the top line of the ticket.

(m) "Set Prize" means all prizes that are advertised to be paid by a single cash payment as outlined in these rules, and which will be equal to the prize amount established by these rules for the prize level.

(n) "Terminal" means a device authorized by a party lottery to function in an online, interactive mode with the lottery's computer system for the purpose of issuing lottery tickets and entering, receiving and processing lottery transactions, including purchases, validating tickets and transmitting reports.

(o) "Ticket Number" means the six-digit number that was selected by the computer, which appears on the face of the ticket and is identified on the ticket as such.

(p) "Validation" or "validate" means the process of determining whether a ticket presented for a prize is a winning ticket.

(q) "Winning number" or "winning numbers" means a six-digit number which is selected by an electronic drawing machine to be a winner of a prize in this drawing.

(r) "Winning ticket" or "winning tickets" means a raffle ticket which was available for sale for this game where the ticket number matches a winning number drawn for the raffle, in exact order, reading from left to right. (Authorized by and implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014.)

111-15-3. Game description; retail sale of tickets. (a) "Holiday Millionaire Raffle" is a raffle drawing which offers a total of 175,000 online tickets available for sale. Each ticket shall bear a "TICKET NUMBER" on the face of the ticket. The Kansas lottery will conduct five "Holiday Millionaire Raffle Early Bird Drawings" according to the following schedule, unless otherwise determined by the executive director:

	Purchase Deadline	
Drawing	8:59 p.m. on:	Drawing Date
Early Bird 1	Sunday, October 12, 2014	Sunday, October 12, 2014
Early Bird 2	Sunday, October 19, 2014	Sunday, October 19, 2014
Early Bird 3	Sunday, October 26, 2014	Sunday, October 26, 2014
Early Bird 4	Sunday, November 2, 2014	Sunday, November 2, 2014
Early Bird 5	Sunday, November 9, 2014	Sunday, November 9, 2014

For each early bird drawing, two ticket numbers will be drawn to determine the winners of each individual \$10,000 early bird drawing prize. A ticket must be purchased before 8:59 p.m. the day of the early bird drawing to be eligible for that drawing. In the event a ticket wins a prize in an early bird drawing, the ticket will remain eligible for any remaining drawings, including the final drawing held on December 31, 2014. For the final drawing, an electronic drawing machine, which has been approved by the executive director of the Kansas lottery, shall randomly select a total of 2,551 "WINNING NUM- BERS." Each "WINNING NUMBER" consists of a sixdigit number as it appears in exact order reading from left to right. A player wins by exactly matching his or her "TICKET NUMBER" to a "WINNING NUMBER" that was selected in the drawing. The first "WINNING NUM-BER" selected during the drawing process shall be the grand prize winner. The second (2nd) through twentysixth (26th) "WINNING NUMBERS" selected during the drawing process shall be the second prize winners. The next 25 "WINNING NUMBERS" selected during the drawing process, which shall be drawn in the order of the twenty-seventh (27th) "WINNING NUMBER" through the fifty-first (51st) "WINNING NUMBER," shall be the third prize winners. The next 2,500 "WINNING NUM-BERS" selected during the drawing process, which shall be drawn in the order of the fifty-second (52nd) "WIN-NING NUMBER" through the two thousand five hundred fifty-first (2,551st) "WINNING NUMBER," shall be the fourth prize winners. If 169,000 of the 175,000 tickets that are available for sale are sold, all prizes shall be paid as a cash lump sum payment. If less than 169,000 tickets available for sale are sold, all prizes may be paid on a pari-mutuel basis as a cash lump sum payment of the total cash held for all tickets sold in this game. To play the "Holiday Millionaire Raffle," a player shall purchase a "Holiday Millionaire Raffle" ticket which bears a ticket number on the face of the ticket.

(b) A "Holiday Millionaire Raffle" ticket shall sell for \$20 (twenty) dollars.

(c) Tickets shall not be sold to any person under the age of 18 years. Each retailer may require a person purchasing tickets to produce proof of age.

(d) Each ticket shall be purchased from a terminal operated by a retailer.

(e) All tickets sold by a retailer shall be a "computer pick" or "quick pick" ticket.

(f) A validated ticket shall be the only proof of a game play. The only method of claiming a prize or prizes shall be the submission of the original winning ticket to and receipt of said ticket by the lottery or its authorized agent.

(g) The only guaranteed methods of win checking a ticket to determine whether the ticket bears a winning number shall be through the Kansas lottery check-a-ticket machines, or submission of a ticket to the Kansas lottery or an authorized retail agent.

(h) A ticket shall not be voided or cancelled by returning the ticket to the selling retailer, including tickets that are printed in error. Exchange tickets may be printed by the lottery for early bird drawing winners at the discretion of the executive director.

(i) There shall be a total of 175,000 available tickets for sale.

(j) Ticket sales will begin at 5:00 a.m. central time on September 5, 2014.

(k) Ticket sales will end at 2:00 a.m. central time on December 31, 2014, or whenever all 175,000 tickets that are available for sale are sold, whichever comes first.

(l) The game will officially close at 4:30 a.m. on December 31, 2014.

(m) The drawing shall be conducted by December 31, 2014, before noon central time, at a secure location as de-*(continued)*

Regulations

termined by the executive director, after the game is closed and the drawing official has verified that the game is closed, under conditions and procedures promulgated by the executive director of the lottery.

(n) Each player shall have the sole responsibility for verifying the accuracy and condition of the data printed on the ticket. The purchase of a ticket is done at the player's own risk through the online retailer who is deemed to be acting on behalf of the player in entering the play or plays.

(o) For any reason or under any circumstance, the liability of the Kansas lottery or its agents shall be strictly limited to a refund of the amount of the ticket purchase price.

(p) Winning ticket numbers shall be made available to the public on or about noon, December 31, 2014. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and 74-8718; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-12-7-10, Sept. 8, 2010; amended, T-111-12-29-10, Dec. 9, 2010; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-4-4-14, Dec. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014.)

111-15-5. Expected prize payout. (a) In the event 169,000 or more of the tickets available for sale in this raffle game are sold, all prizes awarded shall be paid as set lump-sum prizes, with the following expected approximate prize payout amounts:

Order in Which Winning Number **Prize Payment** Was Drawn Per Winner Early Bird Drawings: Drawing 1: 1 and 2 \$10,000 Drawing 2: 1 and 2 \$10,000 Drawing 3: 1 and 2 \$10,000 Drawing 4: 1 and 2 \$10,000 Drawing 5: 1 and 2 \$10,000

Raffle Drawing on December 31, 2014:

1	\$1,000,000
2 through 26	\$5,000
27 through 51	\$1,000
52 through 2,551	\$100

(b) In the event less than 169,000 tickets available for sale in this raffle game are sold, all prizes awarded as described in subsection (a) above may be paid as parimutuel prizes, as a lump-sum payment of the total cash held for all tickets sold in this game. In that instance, the money available from the funding sources for this game shall be divided among the winning tickets/plays in proportion to their respective prize percentages. Any parimutuel prizes awarded shall be calculated rounding down to the nearest dollar. Monies left over after prizes have been rounded down shall be applied to the general prize reserve pool for subsequent lottery games. (Authorized by and implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-10-12-11, Sept. 14, 2011; amended, T-111-10-18-12, Sept. 12, 2012; amended, T-111-11-6-13, Sept. 11, 2013; amended, T-111-4-4-14, Dec. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014.)

111-15-8. Claiming prizes; procedure and time period. (a) Prior to the payment of any prize, each ticket shall be validated by the retailer or lottery office pursuant to this act.

(b) The procedures for payment of a "Holiday Millionaire Raffle" prize on any single game ticket of \$599 or less are as follows:

(1) The claimant of a ticket purchased in Kansas may present the ticket to any Kansas lottery online retailer. Upon validation of the ticket, the retailer shall immediately make payment for the prize to the claimant. If the retailer cannot validate the ticket, the claimant shall fill out a claim form provided by the retailer and personally present or mail the completed form, together with the ticket, to any office of the Kansas lottery. If the ticket is validated, then payment shall be made to the claimant by mail.

(2) The claimant may bring the ticket to any office of the Kansas lottery during the hours that the office is open to the public for business. Upon validation of the ticket, and completion of a claim form, payment shall be processed for the claimant.

(3) The claimant may mail the ticket with a completed claim form in any envelope to any office of the Kansas lottery. Claim forms may be obtained from any lottery retailer, any office of the Kansas lottery, or the Internet. Upon receipt of the ticket and completed claim form and validation of the ticket, payment shall be processed for the claimant.

If any evidence of alteration, mutilation, tear, or other ambiguity appears on the ticket, the retailer shall not make direct payment of a prize. The claimant shall submit a claim form with the ticket to the lottery.

(c) The procedure for the payment of a "Holiday Millionaire Raffle" prize on any single game ticket which totals \$600.00 or more shall be as follows:

(1) The claimant may bring the signed ticket to any office of the Kansas lottery during the hours that the office is open to the public for business. Upon validation of the ticket and completion of a claim form, payment shall be processed for the claimant.

(2) The claimant may mail the ticket with a completed claim form to any office of the Kansas lottery. Claim forms may be obtained from any lottery retailer, any office of the Kansas lottery, or via the Internet. Upon receipt of the ticket and completed claim form and validation of the ticket, payment shall be processed for the claimant.

(d) Although tickets and claim forms may be presented or mailed to any Kansas lottery office, such prizes may only be paid by lottery headquarters.

(e) All prizes shall be claimed within 365 days of the drawing in which the prize was won. Any prize or prizes not claimed within the time specified shall be forfeited. If a prize is claimed by mail, the ticket and claim form must actually be received by the lottery within the claim period. (Authorized by K.S.A. 2013 Supp. 74-8710; implementing K.S.A. 2013 Supp. 74-8710 and 74-8720; effective, T-111-10-8-09, Sept. 9, 2009; amended, T-111-9-4-14, Aug. 13, 2014.)

111-15-21. Instant win cash prizes. The Kansas lottery shall offer all Kansas lottery players purchasing a Holiday Millionaire raffle ticket the chance to win a \$50 cash prize (up to 5,000 winners based on sell out) instantly. Beginning with the sale of "Holiday Millionaire" raffle tickets at 5:00 a.m. central time on September 5, 2014, through the close of sales at 2:00 a.m. on December 31, 2014, every thirty-fifth (35th) Holiday Millionaire raffle ticket sold amongst all selling Kansas lottery locations throughout the state of Kansas will include a message that the player is entitled to a \$50 instant win prize. Every thirty-fifth (35th) ticket which wins a \$50 instant prize will have the following "winner" message imprinted on the ticket front: "You have won a \$50 bonus cash prize. Redeem with store clerk at any Kansas lottery retailer." Directly below the message, a winning icon consisting of a pig encircled by the words, "Kansas Lottery \$50 Winner," shall be printed.

The \$50 instant win ticket can be redeemed at any Kansas lottery selling location or at the Kansas lottery headquarters, or the ticket can be mailed to the Kansas lottery in accordance with established procedures for ticket redemption for the Holiday Millionaire raffle game. An exchange ticket without "winner" message shall be issued when a \$50 instant win ticket is redeemed at a retailer location by the retailer who redeems the ticket. An exchange ticket without "winner" message shall be issued when a \$50 instant win ticket is redeemed in person at Kansas lottery headquarters by Kansas lottery personnel. If a \$50 instant ticket is redeemed by mailing the ticket to Kansas lottery headquarters, the \$50 prize shall be mailed to the winner pursuant to instant ticket redemption procedures along with written notification from the Kansas lottery that the instant win ticket will be held by Kansas lottery security until completion of the Holiday Millionaire Raffle on December 31, 2014. Following completion of the Holiday Millionaire Raffle Drawing on December 31, 2014, Kansas lottery personnel shall notify, in writing, the owner of any \$50 instant win ticket being held by Kansas security lottery, if the owner has won any additional prize in any drawing of the "Holiday Millionaire Raffle" conducted during 2014. (Authorized by and implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-11-6-13, Sept. 11, 2013; amended, T-111-9-4-14, Aug. 13, 2014.)

Article 17.—SPECIFIC ONLINE DRAWING RULES

111-17-16. Frogger second-chance drawing. (a) The Kansas lottery shall conduct a second-chance online event drawing entitled "Frogger Second-Chance Drawing." The rules for this drawing are contained in K.A.R. 111-16-1 *et seq.* and 111-17-16. The Kansas lottery will accept online entries into the drawing beginning at midnight September 4, 2014, and ending at noon on March 10, 2015. The drawing will be announced with at least 24 hours advanced notice via the lottery's website, and other social media forums such as Facebook and Twitter. The drawing will be conducted sometime after entry into the drawing has closed, but before noon on March 13, 2015.

(b) The specific non-winning ticket eligible for entry into this second-chance online event drawing shall be the \$5 Frogger, game number 594.

(c) The Kansas lottery shall award one grand prize and three secondary prizes to players who entered the "Frogger Second-Chance Drawing" using the \$5 Kansas lottery instant ticket named Frogger, game number 594. The grand prize shall consist of a \$500 gift card. Three secondary prizes shall consist of a \$250 gift card.

(d) There will be one drawing held to select winners of the grand prize and secondary prizes. The drawing shall select 15 entrants. The first entrant drawn in this drawing shall be awarded the grand prize identified in subsection (c). The next three entrants drawn in this drawing (identified as numbers 2 through 4) will be awarded one of the three secondary prizes identified in subsection (c). The next 11 entrants drawn in this drawing (identified as numbers 5 through 15) will be used as alternate winners, if necessary, in the order drawn.

(e) A winner of any prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.

(f) A winner shall be sent a claim form via U. S. mail at the time the winner is notified he or she has won a prize.

(g) A player who is the first winner selected in this drawing to receive the grand prize must return his or her completed claim form and must be received by the Kansas lottery within 14 days following the date of the online event drawing. A player who is the second, third, and fourth winner selected in this drawing to receive a secondary prize must return his or her completed claim form and must be received by the Kansas lottery within 14 days following the date of the online event drawing. Alternatively, a player who is among the entrants selected as alternate winners in all drawings and identified in subsection (d) must return his or her completed claim form within 14 days following the date the alternate winner was sent a claim form via U. S. mail.

(h) Completed claim forms can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603, or the winners can deliver the completed claim form by hand to the Kansas lottery claims center in Topeka, Kansas during the claim center's normal business hours.

(i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner's notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.

(j) Any player entering the Frogger Second-Chance Drawing agrees to public disclosure.

(k) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.

(l) Rules applicable to this online event drawing are contained in K.A.R. 111-17-16 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2013 Supp. 74-8710 and K.S.A. 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-9-4-14, Aug. 13, 2014.)

Article 401.—NORTHEAST GAMING ZONE

111-401-129. Wagers and payout odds. (a) Minimum and maximum wagers will be posted on a sign at each table.

(continued)

(b) Maximum table payouts, if any, will be posted at each table and will not be less than the maximum bet times the maximum odds.

(c) If a player has been permitted to wager less than the table minimum, the dealer will take or pay the amount actually wagered. If a player has been permitted to wager more than the table maximum, the excess will be returned to the player and the player will be paid the correct odds on the correct wager. The player will be informed of the table minimum and maximum for subsequent wagers.

(d) A player may play two hands at double the table minimum or greater per hand not to exceed the table maximum. A player may play three hands at the table maximum per hand. Multiple hands must be on empty positions with no other players located between multiple hands. Exceptions will be made only at the discretion of the table games pit manager, the table games shift manager, or higher ranking casino official.

(e) The following describes a list of the permissible wagers, payout odds, and what constitutes a win, loss, or tie:

(1) Initial Pai Gow wager:

(A) All wagers must be placed prior to dealing of hands. The initial Pai Gow wager is a wager placed by a player on either his own hand or the hand of another player.

(i) Initial Pai Gow wagers may be placed on a position by more than one player, however, the total initial Pai Gow wagers per position cannot exceed the table maximum.

(ii) Only the seated player for a position will handle the cards and set the hand. A seated player may refuse additional wagers.

(iii) An additional initial Pai Gow wager may be made as a tip for the dealer.

(iv) No commission is charged on Pai Gow wagers.

(B) Payout odds on all winning wagers will be 1 to 1.

(C) Initial Pai Gow wagers will win if:

(i) The player's low hand beats the dealer's low hand, and

(ii) The player's high hand beats the dealer's high hand.(D) Initial Pai Gow wagers will lose if:

(i) The player's low hand does not beat the dealer's low hand, and

(ii) The player's high hand does not beat the dealer's high hand.

(iii) The player forfeited the hand.

(iv) The low hand of the player is set to rank higher than the high hand of the player (fouled hand).

(v) The low hand contains more or less than two cards, or the high hand contains more or less than five cards (fouled hand).

(E) Initial Pai Gow wagers will tie or push if:

(i) The player's low hand beats the dealer's low hand and the player's high hand does not beat the dealer's high hand; or

(ii) The player's high hand beats the dealer's high hand and the player's low hand does not beat the dealer's low hand.

(2) Fortune Pai Gow bonus (also referred to as "fortune bonus") wagers:

(A) The Fortune Pai Gow bonus wager is a player's optional side bet that the outcome of his or her high hand will be of a certain qualifying poker rank. Players who wager a minimum of \$5 on the Fortune Pai Gow bonus wager also qualify for the envy bonus. The Fortune Pai Gow bonus wager must be placed at the same time as the initial Pai Gow wager and may be larger than the initial Pai Gow wager.

(i) Only the seated player for a position is allowed to place a Fortune Pai Gow bonus wager.

(ii) An additional Fortune Pai Gow bonus wager may be made as a tip for the dealer.

(B) Payout odds on winning Fortune Pai Gow bonus wagers will be independent of the outcome of the dealer's hand and the bonus will be paid at the following odds when the player's high hand or high hand and low hand combined consist of a:

(i) 3 pair - push

(ii) straight - 2 to 1

(iii) three-of-a-kind - 3 to 1

(iv) flush - 4 to 1

(v) full house - 5 to 1

(vi) four-of-a-kind - 20 to 1

(vii) straight flush - 50 to 1

(viii) royal flush - 100 to 1

(ix) five aces - 250 to 1

(x) seven card straight flush with joker - 750 to 1

(xi) royal flush plus a royal match (suited king and queen) - 1,000 to 1

(xii) seven card straight flush without a joker - 5,000 to 1

(C) A Fortune Pai Gow bonus wager will win if:

(i) The player makes an initial Pai Gow wager

(ii) The player makes a Fortune Pai Gow bonus wager of \$1 up to the table maximum in \$5 increments per hand once the bet reaches \$5; and,

(iii) The hand on which the bets were placed consists of a combination of cards containing at least three pair.

(D) A Fortune Pai Gow bonus wager will lose if:

(i) The hand on which the bet was placed does not consist of a combination of cards containing at least three pair, or

(ii) The seated player forfeited the hand.

(3) Envy bonus wager:

(A) Players who wager a minimum of \$5 on the Fortune Pai Gow bonus wager qualify for the envy bonus, subject to the following:

(i) Only the seated player for a position qualifies for the envy bonus.

(ii) Before dealing the cards, the dealer will place an envy bonus lammer for each player who has a \$5 bonus wager.

(iii) If two players have an envy bonus jackpot, the players will be paid on both hands.

(iv) The dealer's hand never qualifies for the envy bonus.

(v) The position which contains the qualifying envy bonus hand (at least a four-of-a-kind) cannot win the envy bonus.

(B) Payout odds on winning envy bonus wagers will be independent of the outcome of the dealer's hand and the following bonuses will be paid when a player wagers

Kansas Register

a minimum of \$5 on the Fortune Pai Gow bonus wager and another player's hand at the table contains a:

(i) four-of-a-kind - \$5

(ii) straight flush - \$10

(iii) royal flush - \$25

(iv) five aces - \$50

(v) Seven card straight flush with a joker - \$100

(vi) royal flush plus royal match - \$250

(vii) seven card straight flush without a joker - \$1,000

(C) A Fortune Pai Gow envy bonus wager will win if:

(i) The player makes an initial Pai Gow wager

(ii) The player makes a fortune bonus wager of a minimum of \$5, and

(iii) Another player's hand consists of at least a fourof-a-kind.

(D) A Fortune Pai Gow envy bonus wager will lose if no players have a hand consisting of at least a four-of-akind.

(4) Progressive:

(A) Players may participate in the optional progressive jackpot by placing a \$1 chip in the designated area. The progressive bet is considered a side wager and the dealer's hand has no bearing on the progressive bet's outcome. The player must have an original Pai Gow wager to make a progressive bet.

(B) The progressive jackpot will be comprised of a beginning base amount of \$2,000.

(C) The amount of the progressive jackpot will be displayed in a manner visible to players.

(D) Winning progressive bets will be paid at the rate of:

(i) If the player's hand consists of a full house, 4 to 1.

(ii) If the players hand consists of a four-of-a-kind, 75 to 1.

(iii) If the player's hand consists of a straight flush, 100 to 1.

(iv) If the player's hand consists of a royal flush, 500 to 1.

(v) If the player's hand consists of five aces, 10 percent of the progressive jackpot.

(vi) If the player's hand consists of a seven card straight flush (with or without the joker), 100% of the progressive jackpot.

(É) A progressive bet will win if the player's hand consists of a seven card straight flush (with or without the joker), five aces, royal flush, straight flush, four-of-a-kind, or a full house.

(5) Winning progressive bets will be paid in the following manner:

(A) If the winning hand consists of a full house, fourof-a-kind, or straight flush, the table games supervisor will verify the winning hand and will verify the progressive bet was made, and direct the dealer to make the appropriate payout.

(B) If the winning hand consists of a royal flush, five aces, or a seven card straight flush (with or without the joker), the table games supervisor or higher ranking casino official will verify the winning hand and will verify the progressive bet was made. The table games supervisor or higher ranking casino official will notify the table games pit manager or higher ranking casino official. Surveillance will also be notified to verify the winning hand.

(i) The dealer will verify the deck of cards by counting down and sorting the remaining cards by suit.

(ii) Once the jackpot has been deducted from the progressive jackpot for the five aces or seven card straight flush (with or without the joker), new cards will be placed on the table and play will resume.

(iii) In the case of the seven card straight flush (with or without the joker), the meter will reset to an amount equal to the sum of \$2,000.

(iv) In the event of multiple winning progressive hands consisting of five aces or seven card straight flush (with or without joker), the jackpot will be determined by whoever receives their hand first according to the time stated on surveillance video at the lottery gaming facility.

(C) A progressive bet will lose if the player's hand consists of any combination of cards other than a seven card straight flush (with or without the joker), five aces, royal flush, straight flush, four-of-a-kind, or a full house.

(6) Tiger 9 bonus:

(A) Only the seated player for a table position may place a tiger 9 bonus wager.

(B) Any seated player who has made a Pai Gow wager may, at the same time, make a tiger 9 bonus wager by placing gaming chips in the area designed for that bonus wager at his or her betting position.

(Č) A tiger 9 bonus wager shall be no less than \$1.00 and may be larger than the original Pai Gow wager.

(D) An additional tiger 9 bonus wager may be made as a toke (gratuity) for the dealer.

(E) A tiger 9 bonus wager shall win if the dealer's hand contains a nine (9) high low hand and will lose if the dealer's hand does not contain a nine (9) high low hand.

(F) All winning tiger 9 bonus wagers are paid at the rate of 30 to one. (Authorized by K.S.A. 2013 Supp. 74-8710 and 74-8748; implementing K.S.A. 2013 Supp. 74-8710; effective, T-111-2-9-12, Dec. 14, 2011; amended, T-111-9-4-14, Aug. 13, 2014.)

Terry P. Presta Executive Director

INDEX TO ADMINISTRATIVE
REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the Kansas Register issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the Kansas Administrative Regulations and the 2013 Supplement of the Kansas Administrative Regulations.

Kansas Auministratioe Regulations.			
AGENCY 1: DEPARTMENT OF ADMINISTRATION			
Reg. No.	Action	Register	
1-9-22	Amended	V. 33, p. 885	
1-14-11	Amended	V. 33, p. 886	
AG	ENCY 4: DEPARTMEN AGRICULTURE	T OF	
Reg. No.	Action	Register	
4-16-1a	Amended	V. 32, p. 408	
4-16-1c	Amended	V. 32, p. 409	
4-16-7a	Amended	V. 32, p. 410	
4-16-306	New	V. 32, p. 410	
4-17-1a	Revoked	V. 32, p. 411	
4-17-1c	Revoked	V. 32, p. 411	
4-17-300	Revoked	V. 32, p. 411	
4-17-302			
through	D 1 1	17.00 444	
4-17-305	Revoked	V. 32, p. 411	
4-28-2	Amended	V. 32, p. 349	
4-28-6	Amended	V. 32, p. 499	
4-28-8	Amended	V. 32, p. 349	
4-28-9			
through	D 1 1	17 22 240	
4-28-16	Revoked	V. 32, p. 349	
4-28-33	New	V. 32, p. 499	
4-28-34	New	V. 32, p. 500	

AGENCY 5: DEPARTMENT OF AGRICULTURE-DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-7-1	Amended	V. 33, p. 325
5-7-4	Amended	V. 33, p. 325
5-7-4b	New	V. 33, p. 326
5-16-1	Amended	V. 32, p. 566
5-16-2	Revoked	V. 32, p. 566
5-16-3	Amended	V. 32, p. 566
5-16-4	Amended	V. 32, p. 567
5-16-5	Revoked	V. 32, p. 567
5-16-6	Amended	V. 32, p. 567
5-16-7	Amended	V. 32. p. 567

AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH

Reg. No.	Action	Register
9-3-6 through 9-3-17 9-7-4 9-29-1	New Amended	V. 33, p. 922-926 V. 32, p. 1170
through 9-29-15	Revoked	V. 33, p. 927
AGENCY 10: KANSAS BUREAU OF INVESTIGATION		

Reg. No. Action Register 10-10-2 V. 32, p. 960 Amended 10-10-5 V. 32, p. 960 New V. 33, p. 627 10-10-5Amended (T) 10-10-5Amended V. 33, p. 921

AGENCY 11: DEPARTMENT OF AGRICULTURE—DIVISION OF CONSERVATION			
Reg. No.	Action	Register	
11-12-1 through			
11-12-7	Amended	V. 32, p. 501-503	
AGENCY		NT OF REVENUE—	
	IVISION OF AL BEVERAGE CO	COHOLIC	
Reg. No.	Action	Register	
14-13-1	Amended	V. 32, p. 148	
14-13-2	Amended	V. 32, p. 149	
14-13-3	Revoked	V. 32, p. 150	
14-13-4			
through 14-13-10	Amended	V. 32, p. 150, 151	
14-13-11	Revoked	V. 32, p. 150, 151 V. 32, p. 152	
14-13-13	Amended	V. 32, p. 152	
14-13-15	Amended	V. 32, p. 153	
14-13-16	New	V. 32, p. 407	
14-13-17 14-13-18	New New	V. 32, p. 408 V. 32, p. 408	
	ICY 16: ATTORN	-	
Reg. No.	Action	Register	
16-8-1			
through 16-8-7	New (T)	V 32 p 864-866	
16-8-1		V. 32, p. 864-866	
through			
16-8-7	New	V. 32, p. 1238-1240	
16-11-7	Amended	V. 32, p. 1289	
16-11-7 16-13-1	Amended (T)	V. 33, p. 730	
	New (T)	V. 33, p. 731	
	GENCY 17: OFFI TE BANK COM		
Reg. No.	Action	Register	
17-11-18	Amended	V. 33, p. 684	
17-11-21	Amended	V. 33, p. 684	
17-24-2	Amended	V. 33, p. 946	
17-25-1	Amended	V. 33, p. 946	
	ENCY 20: CRIM		
Reg. No.	Action	Register	
20-1-1	Amended	V. 32, p. 1528	
20-1-2	Revoked	V. 32, p. 1528	
20-2-1	Revoked	V. 32, p. 1528	
20-2-2	Amended	V. 32, p. 1528	
20-2-3 20-2-4	Amended Revoked	V. 32, p. 1529 V. 32, p. 1529	
20-2-7	Amended	V. 32, p. 1529 V. 32, p. 1529	
20-2-8	Amended	V. 32, p. 1529	
20-2-9	Amended	V. 32, p. 1530	
20-6-1	Revoked	V. 32, p. 1530	
20-15-1 20-15-2	Revoked Revoked	V. 32, p. 1530 V. 32, p. 1530	
	CY 22: STATE F		
Reg. No.	Action	Register	
22-4-2	Revoked	V. 32, p. 1217	
22-4-3 22-4-4	Revoked Revoked	V. 32, p. 1217 V. 32, p. 1217	
22-4-4	New (T)	V. 32, p. 1217 V. 32, p. 859	
22-4-5	New	V. 32, p. 1217	
22-8-4	Revoked	V. 33, p. 371	
22-8-7	Revoked	V. 33, p. 371	
22-8-11	Amended	V. 33, p. 371	
22-8-12	Amended	V. 33, p. 371	
	7 26: DEPARTMI ND DISABILITY	ENT FOR AGING SERVICES	
Reg. No.	Action	Register	
26-39-100	Amended (T)	V. 32, p. 867	
26-39-100	Amended	V. 32, p. 1241	
26-39-500		-	
through	Nour (T)	V 22 - 0E6 0E0	
26-39-506 26-50-10	New (T) New (T)	V. 33, p. 956-959 V. 32, p. 870	
26-50-10	New (1)	V. 32, p. 1244	

26-50-12	New (T)	V. 32, p. 871
26-50-12	New	V. 32, p. 1244
26-50-20	New (T)	V. 32, p. 871
26-50-20	New	V. 32, p. 1244
26-50-22	New (T)	V. 32, p. 871
26-50-22	New	V. 32, p. 1245
26-50-24	New (T)	V. 32, p. 872
26-50-24	New	V. 32, p. 1246
26-50-26	New (T)	V. 32, p. 873
26-50-26	New	V. 32, p. 1246
26-50-30	New (T)	V. 32, p. 873
26-50-30 26-50-32	New New (T)	V. 32, p. 1247 V. 32, p. 874
26-50-32	New	V. 32, p. 1247
26-50-34	New (T)	V. 32, p. 874
26-50-34	New	V. 32, p. 1248
26-50-36	New (T)	V. 32, p. 874
26-50-36	New	V. 32, p. 1248
26-50-38	New (T)	V. 32, p. 875
26-50-38	New	V. 32, p. 1248
26-50-40	New (T)	V. 32, p. 875
26-50-40	New	V. 32, p. 1249
AGENCY	28: DEPARTME	NT OF HEALTH
	AND ENVIRON	
Reg. No.	Action	Register
28-1-23	New	V. 33, p. 309
28-4-550	Amended	V. 33, p. 200
28-4-552	Revoked	V. 33, p. 200 V. 33, p. 202
28-4-556	Revoked	V. 33, p. 202
28-4-564	Amended	V. 33, p. 202
28-4-565	Amended	V. 33, p. 203
28-4-568	Amended	V. 33, p. 203
28-4-569	Amended	V. 33, p. 204
28-4-573	Amended	V. 33, p. 204
28-4-801	Amended	V. 32, p. 1026
28-4-814	Amended	V. 32, p. 1027
28-4-816	Amended	V. 32, p. 1028
28-4-820	Amended	V. 32, p. 1029
28-4-821	Amended	V. 32, p. 1030
28-4-1250		
through	Novy (T)	V 22 m 8 24
28-4-1269	New (T)	V. 33, p. 8-24
28-4-1250		
through	New	V 33 p 262-278
28-4-1269 28-14-1	Amended	V. 33, p. 262-278 V. 33, p. 518
28-14-2	Amended	V. 33, p. 518
28-16-28g	Amended	V. 33, p. 643
28-29-109	Amended	V. 32, p. 938
28-29-1600		···/ F·····
through		
28-29-1608	New	V. 32, p. 1194-1199
28-30-2		· 1
through		
28-30-6	Amended	V. 32, p. 522-525
28-31-260b	New	V. 32, p. 415
28-31-268	Amended	V. 32, p. 416
28-32-13	Amended	V. 32, p. 208
28-35-147a	Amended	V. 32, p. 260
28-39-164		
through	Darral - 1 (T)	V 22 . 074
28-39-168	Revoked (T) Revoked (T)	V. 32, p. 876
28-39-169a		V. 32, p. 876
28-39-169b 28-39-169c	Revoked (T) Revoked (T)	V. 32, p. 876 V. 32, p. 876
		FOR CHILDREN
AGENCI 50	AND FAMIL	
Reg No.	Action	Register
Reg. No.		-
30-6-34	Revoked (T)	V. 32, p. 1376
30-6-34	Revoked	V. 33, p. 142
30-6-35	Revoked (T)	V. 32, p. 1376
30-6-35 30-6-36	Revoked (T)	V. 33, p. 142
30-6-36 30-6-36	Revoked (T) Revoked	V. 32, p. 1376 V. 33, p. 142
30-6-39	Revoked (T)	V. 33, p. 142 V. 32, p. 1376
30-6-39	Revoked (1)	V. 33, p. 142
30-6-40	Revoked (T)	V. 32, p. 1376
30-6-40	Revoked	V. 33, p. 142
30-6-41	Revoked (T)	V. 32, p. 1376
30-6-41	Revoked	V. 33, p. 142
30-6-50		- 1
through		
30-6-56	Revoked (T)	V. 32, p. 1376
		_

© Kansas Secretary of State 2014

Vol. 33, No. 39, September 25, 2014

V. 32, p. 1244

26-50-10

New

Index to Regulations

Revoked

Action

Amended

Amended

Amended

Amended

Amended

New

New

New

Revoked (T)

Revoked (T)

AGENCY 40: KANSAS INSURANCE DEPARTMENT

Revoked (T)

Revoked (T)

Revoked (T) Revoked

Revoked (T)

Revoked (T) Revoked

Revoked (T)

Revoked (T)

Revoked (T)

Revoked (T)

Revoked (T)

Revoked (T)

V. 33, p. 142, 143

V. 32, p. 1376

V. 33, p. 143

V. 32, p. 1377 V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 32, p. 1377

V. 32, p. 1377

V. 33, p. 143

V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 33, p. 143

V. 32, p. 1377

V. 32, p. 1378, 1379

V. 33, p. 144, 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379 V. 33, p. 145 V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145 V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1379

V. 33, p. 145

V. 32, p. 1380

V. 33, p. 145

Register V. 32, p. 183

V. 33, p. 68

V. 33, p. 68

V. 33, p. 68

V. 32, p. 183

V. 33, p. 68

V. 33, p. 69 V. 33, p. 69

V. 33, p. 144

V. 32, p. 1377

V. 33, p. 143

V. 33, p. 143

30-6-50

through

30-6-56

30-6-60

30-6-60

30-6-63

30-6-63

30-6-65

30-6-65 30-6-70

30-6-70

30-6-78

30-6-78

30-6-80

30-6-80

30-6-81

30-6-81

30-6-82

30-6-82

30-6-85 through 30-6-89

30-6-85 through 30-6-89

30-6-91

30-6-91

30-6-94

30-6-94

30-6-95

30-6-95

30-6-103

30-6-103

30-6-106 through

30-6-113

30-6-106 through 30-6-113

30-6-120

30-6-120

30-6-140

30-6-140

30-6-150

30-6-150 30-14-1

30-14-1

30-14-2

30-14-2

30-14-3

30-14-3

30-14-20

30-14-20

30-14-21

30-14-21

30-14-23 through 30-14-26

30-14-23 through 30-14-26

30-14-28 through

30-14-31

30-14-28 through 30-14-31

30-14-50

30-14-50

Reg. No.

40-1-20

40-1-28

40-1-37

40-1-48

40-2-14a

40-3-59

40-16-1

40-16-2

Kansas Register _

GENCY	44:	DEPARTMENT	OF
C	OR	RECTIONS	

A

	AGENCY 44: DEPARTMENT OF CORRECTIONS						
Reg. No.	Action	Register					
44-12-211	Amended	V. 33, p. 577					
44-12-212		V. 33, p. 577					
44-12-601		V. 33, p. 577					
44-15-204 44-15-204	New (T) New	V. 32, p. 862 V. 32, p. 1150					
		-					
	AGENCY 51: DEPARTMENT OF LABOR— DIVISION OF WORKERS COMPENSATION						
Reg. No.	Action	Register					
51-9-7	Amended	V. 32, p. 1299					
51-9-15	Revoked	V. 32, p. 836					
51-9-17	Amended	V. 32, p. 88					
AGENO Reg. No.	AGENCY 54: STATE LIBRARY O Reg. No. Action						
54-4-1	New	Register V. 33, p. 225					
	ENCY 60: BOARD (-					
Reg. No.	Action	Register					
60-4-101	Amended	V. 33, p. 580					
60-8-101	Amended	V. 33, p. 580					
60-9-105	Amended	V. 32, p. 411					
60-9-106	Amended	V. 32, p. 412					
60-9-107	Amended Amended	V. 32, p. 413					
60-11-119 60-12-106		V. 33, p. 580 V. 32, p. 414					
60-13-101		V. 33, p. 580					
60-16-102	Amended	V. 32, p. 1216					
	AGENCY 66: BOA TECHNICAL PROF						
Reg. No.	Action	Register					
66-6-1	Amended (T)	V. 33, p. 627					
66-6-1	Amended	V. 33, p. 950					
66-6-4	Amended (T)	V. 33, p. 628					
66-6-4	Amended Amended	V. 33, p. 950					
66-6-6 66-6-10	New	V. 33, p. 951 V. 33, p. 951					
66-8-3	Amended	V. 32, p. 1488					
66-8-4	Amended	V. 33, p. 952					
66-8-6	Amended	V. 33, p. 952					
66-8-7 66-8-7	Amended (T) Amended	V. 33, p. 629					
66-8-8	Amended	V. 33, p. 952 V. 33, p. 952					
66-9-5	Amended	V. 33, p. 952					
66-9-6	Amended (T)	V. 33, p. 629					
66-9-6	Amended	V. 33, p. 953					
66-9-7 66-10-1	Amended Amended	V. 33, p. 953 V. 33, p. 953					
66-10-3	Amended	V. 32, p. 1489					
((10.0							
66-10-9	Amended	V. 32, p. 1489					
66-10-10	Amended	V. 32, p. 1489 V. 33, p. 953					
66-10-10 66-10-10a	Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953					
66-10-10 66-10-10a 66-10-11	Amended Amended Revoked	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953					
66-10-10 66-10-10a	Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13	Amended Amended Revoked Amended Amended (T) Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 629 V. 33, p. 954					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14	Amended Amended Revoked Amended Amended (T) Amended Amended (T)	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 629 V. 33, p. 629					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14 66-10-14	Amended Amended Revoked Amended Amended (T) Amended Amended (T) Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 629 V. 33, p. 629 V. 33, p. 629 V. 33, p. 954					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14 66-10-14 66-10-14	Amended Amended Revoked Amended Amended Amended Amended Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 629 V. 33, p. 954 V. 32, p. 1490					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14 66-10-14	Amended Amended Revoked Amended Amended (T) Amended Amended (T) Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 629 V. 33, p. 954 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 954 V. 33, p. 954					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}11\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b \end{array}$	Amended Amended Revoked Amended Amended (T) Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 953 V. 33, p. 629 V. 33, p. 629 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 630 V. 33, p. 954 V. 33, p. 954					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b\\ 66\text{-}11\text{-}2\end{array}$	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Amended Amended Revoked	$\begin{array}{c} V. \ 32, \ p. \ 1489\\ V. \ 33, \ p. \ 953\\ V. \ 33, \ p. \ 954\\ V. \ 33, \ p. \ 629\\ V. \ 33, \ p. \ 954\\ V. \ 32, \ p. \ 1490\\ V. \ 33, \ p. \ 630\\ V. \ 33, \ p. \ 954\\ V. \ 32, \ p. \ 954\\ V. \ 32, \ p. \ 955\\ V. \ 32, \ p. \ 1490\end{array}$					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\end{array}$	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Amended Revoked Amended (T)	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 954 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 630					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b\\ 66\text{-}11\text{-}2\end{array}$	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Amended Amended Revoked	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 629 V. 33, p. 640 V. 33, p. 630 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 640 V. 33, p. 650 V. 33, p. 955 V. 33, p. 955					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}11\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\end{array}$	Amended Amended Revoked Amended Amended (T) Amended Amended Amended Amended Revoked Amended Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 629 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 630 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 V. 33, p. 955 V. 33, p. 955 V. 33, p. 955 V. 33, p. 955					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ \end{array}$	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Revoked Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended (T) Amended	$\begin{array}{c} V. 32, p. 1489\\ V. 33, p. 953\\ V. 33, p. 629\\ V. 33, p. 629\\ V. 33, p. 629\\ V. 33, p. 629\\ V. 33, p. 649\\ V. 32, p. 1490\\ V. 33, p. 630\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, P. 95\\ V. 33\\ V. 33\\ V. 33\\ V. 34\\ V. 34\\ V. 34\\ V. 35\\ V. 35\\ V. 35\\ V. 35\\ V. 35\\ V. 35\\ V. 35$					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1b\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ \end{array}$	Amended Amended Revoked Amended Amended (T) Amended Amended Amended Amended Revoked Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	$\begin{array}{c} V. 32, p. 1489\\ V. 33, p. 953\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 32, p. 1490\\ V. 33, p. 954\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 32, p. 1490\\ \end{array}$					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}11\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}6\\ \end{array}$	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Revoked Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended (T) Amended	$\begin{array}{c} V. 32, p. 1489\\ V. 33, p. 953\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 32, p. 1490\\ V. 33, p. 954\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ \end{array}$					
$\begin{array}{c} 66\text{-}10\text{-}10\\ 66\text{-}10\text{-}10a\\ 66\text{-}10\text{-}11\\ 66\text{-}10\text{-}12\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}13\\ 66\text{-}10\text{-}14\\ 66\text{-}10\text{-}14\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}1a\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}2\\ 66\text{-}11\text{-}4\\ 66\text{-}11\text{-}5\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}12\text{-}1\\ 66\text{-}14\text{-}1\\ 66\text{-}14\text{-}6\\ \end{array}$	Amended Amended Revoked Amended (T) Amended (T) Amended Amended (T) Amended Amended (T) Amended Revoked Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T)	$\begin{array}{c} V. 32, p. 1489\\ V. 33, p. 953\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 33, p. 954\\ V. 32, p. 1490\\ V. 33, p. 954\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ V. 33, p. 955\\ V. 32, p. 1490\\ V. 33, p. 955\\ \end{array}$					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14 66-10-14 66-11-1a 66-11-1a 66-11-1a 66-11-2 66-11-4 66-11-4 66-11-5 66-12-1 66-12-1 66-12-1 66-14-1 66-14-6 AGE	Amended Amended Revoked Amended (T) Amended Amended (T) Amended Amended Amended Amended Revoked Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 629 V. 33, p. 629 V. 33, p. 629 V. 32, p. 1490 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 F PHARMACY					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-13 66-10-14 66-10-14 66-11-1a 66-11-1a 66-11-1a 66-11-2 66-11-2 66-11-4 66-11-5 66-12-1 66-12-1 66-14-1 66-14-1 66-14-6 AGE Reg. No. 68-11-1 68-11-2	Amended Amended Revoked Amended (T) Amended (T) Amended (T) Amended Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 954 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 FPHARMACY Register V. 33, p. 493 V. 33, p. 493					
66-10-10 66-10-10a 66-10-11 66-10-12 66-10-13 66-10-13 66-10-14 66-10-14 66-10-14 66-11-1a 66-11-1a 66-11-1a 66-11-2a 66-11-4 66-11-4 66-11-5 66-12-1 66-12-1 66-12-1 66-12-1 66-14-1 66-14-6 AGE Reg. No. 68-11-1	Amended Amended Revoked Amended (T) Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended Amended (T) Amended	V. 32, p. 1489 V. 33, p. 953 V. 33, p. 954 V. 33, p. 954 V. 33, p. 954 V. 33, p. 954 V. 32, p. 1490 V. 33, p. 954 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 V. 33, p. 955 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 V. 32, p. 1490 V. 33, p. 955 F PHARMACY Register V. 33, p. 493					

AGENC	AGENCY 69: BOARD OF COSMETOLOGY						
Reg. No.	Action	Register					
69-3-27	Amended						
69-3-29	New	V. 33, p. 108 V. 33, p. 108					
69-11-1	Amended	V. 33, p. 108					
69-11-2	Amended	V. 33, p. 108					
69-12-5	Amended	V. 33, p. 108					
69-15-1	Amended	V. 33, p. 517					
69-15-3	Amended	V. 33, p. 108					
69-15-4 69-15-5	Amended Amended	V. 33, p. 109					
69-15-7	Amended	V. 33, p. 109 V. 33, p. 109					
69-15-12	mended	v. 66, p. 16)					
through							
69-15-15	Amended	V. 33, p. 109-111					
69-15-17	Amended	V. 33, p. 111					
69-15-30	Amended	V. 33, p. 518					
AGENO	CY 71: KANSAS E	DENTAL BOARD					
Reg. No.	Action	Register					
71-3-9	Amended	V. 32, p. 504					
71-3-9	Amended	V. 32, p. 304 V. 33, p. 492					
AGENC		ACCOUNTANCY					
Reg. No.	Action	Register					
74-2-1	Amended	V. 33, p. 241					
74-2-7	Amended	V. 33, p. 242					
74-4-9	Amended	V. 33, p. 242					
74-5-2	Amended	V. 33, p. 243					
74-5-101	Amended	V. 33, p. 244					
74-5-202 74-5-406	Amended Amended	V. 33, p. 244 V. 33, p. 244					
74-5-407	Amended	V. 33, p. 245					
74-6-2	Amended	V. 33, p. 245					
74-11-6	Amended	V. 33, p. 245					
74-11-7	Amended	V. 33, p. 246					
74-11-15	Revoked	V. 33, p. 246					
	GENCY 81: OFFI CURITIES COM						
Reg. No.	Action	Register					
		0					
81-14-9	Amended	V. 32, p. 1235					
81-14-11	New	V. 32, p. 1238					
AGEN	ICY 82: STATE C COMMISS						
	COMMISSI	ION					
Reg. No.	COMMISSI Action	ION Register					
Reg. No. 82-3-135a	COMMISS Action Amended	ION Register V. 32, p. 940					
Reg. No. 82-3-135a 82-3-602	COMMISS Action Amended Amended	ON Register V. 32, p. 940 V. 32, p. 940					
Reg. No. 82-3-135a 82-3-602 82-3-603	COMMISS Action Amended Amended Amended	ION Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604	COMMISS Action Amended Amended Amended Amended	KON Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941					
Reg. No. 82-3-135a 82-3-602 82-3-603	COMMISS Action Amended Amended Amended	KON Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607	COMMISS Action Amended Amended Amended Amended Amended	KON Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through	COMMISS Action Amended Amended Amended Amended Amended	KON Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307	COMMISSI Action Amended Amended Amended Amended New New	Non Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-604 82-3-608 82-3-1300 through 82-3-1307 82-3-1307 82-3-1400	COMMISSI Action Amended Amended Amended Amended Amended New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 943 V. 32, p. 1354					
Reg. No. 82-3-135a 82-3-602 82-3-604 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401	COMMISSI Action Amended Amended Amended Amended New New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 943 V. 32, p. 1354 V. 32, p. 1355					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401 82-3-1402	COMMISSI Action Amended Amended Amended Amended New New New New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401 82-3-1402 82-4-1	COMMISSI Action Amended Amended Amended Amended New New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 943 V. 32, p. 1354 V. 32, p. 1355					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401 82-3-1402 82-4-1 82-4-3a	COMMISSI Action Amended Amended Amended Amended New New New New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401 82-3-1402 82-4-1	COMMISSI Action Amended Amended Amended Amended New New New New New	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-604 82-3-608 82-3-1300 through 82-3-1307 82-3-1400 82-3-1401 82-3-1401 82-3-1402 82-4-1 82-4-3a through	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1300 82-3-1400 82-3-1400 82-3-1402 82-4-1 82-4-3a through 82-4-3f through	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099					
Reg. No. 82-3-135a 82-3-602 82-3-604 82-3-604 82-3-604 82-3-1300 through 82-3-1300 82-3-1307 82-3-1400 82-3-1401 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3f through 82-4-36	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1307 82-3-1401 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3d 82-4-3d 82-4-36	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended Amended	ION Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1119					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1300 82-3-1400 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3f through 82-4-36 82-4-6d 82-4-8a	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1101 V. 32, p. 1121					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-607 82-3-607 82-3-608 82-3-1300 through 82-3-1400 82-3-1400 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3d 82-4-3f through 82-4-6d 82-4-6a 82-4-6a 82-4-20	COMMISSI Action Amended Amended Amended Amended New New New New New New New Amended Amended Amended Amended Amended Amended	Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1101 V. 32, p. 1121					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1300 82-3-1400 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3f through 82-4-36 82-4-6d 82-4-8a	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1101 V. 32, p. 1121					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1307 82-3-1401 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-3a 82-4-3a 82-4-40 82-4-20 82-4-29 82-4-29 82-4-39	COMMISSI Action Amended Amended Amended Amended Amended New New New New New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1400 82-3-1400 82-3-1401 82-3-1401 82-4-1 82-4-1 82-4-3a through 82-4-3d 82-4-3a 82-4-3a 82-4-6d 82-4-8a 82-4-27 82-4-29	COMMISSI Action Amended Amended Amended Amended Amended New New New New New New Amended Amended Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1101 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1401 82-3-1402 82-4-11 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-20 82-4-27 82-4-29 82-4-29 82-4-29 82-4-8a	COMMISSI Action Amended Amended Amended Amended Amended New New New New New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1400 82-3-1400 82-3-1400 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-36 through 82-4-30 82-4-43 82-4-27 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-39	COMMISSI Action Amended Amended Amended Amended Amended New New New New New New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Kon Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1401 82-3-1402 82-4-11 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-20 82-4-27 82-4-29 82-4-29 82-4-29 82-4-8a	COMMISSI Action Amended Amended Amended Amended Amended New New New New New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Kegister V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1300 82-3-1401 82-3-1402 82-4-1 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-4d 82-4-20 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-20 82-60 82-60 82-60 82-60 82-60 82-60 82-60 82-60 82-60 82-60	COMMISSI Action Amended Amended Amended Amended Amended New New New New New New Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	Kon Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1354 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 32, p. 1122					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1307 82-3-1307 82-3-1400 82-3-1400 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-4-36 82-4-36 82-4-36 82-4-36 82-4-20 82-4-20 82-4-29 82-4-29 82-4-29 82-4-29 82-4-48a Reg. No. 91-1-200 through	COMMISSI Action Amended Amended Amended Amended New New New New New New Amended Amende	Kon Register V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1101 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 32, p. 1123 Kagister					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-4-3a through 82-4-3a through 82-4-3a 82-4-36 82-4-36 82-4-45 82-4-20 82-4-27 82-4-29 82-4-29 82-4-29 82-4-29 82-4-20 82-40 82-40 82-40 82-40 82-6	COMMISSI Action Amended Amended Amended Amended Amended New New New New New Amended	Kon Register V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 33, p. 764-772					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1400 82-3-1400 82-3-1400 82-3-1401 82-3-1402 82-4-11 82-4-3a through 82-4-3d 82-4-3d 82-4-3d 82-4-3d 82-4-3a 82-4-6d 82-4-8a 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-29 82-4-20 82-40 82-60 82-60	COMMISSI Action Amended Amended Amended Amended Amended New New New New New New Amended Amende	Kon Register V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1122 V. 33, p. 764-772 V. 33, p. 755					
Reg. No. 82-3-135a 82-3-602 82-3-603 82-3-604 82-3-607 82-3-608 82-3-1300 through 82-3-1307 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-3-1401 82-4-3a through 82-4-3a through 82-4-3a 82-4-36 82-4-36 82-4-45 82-4-20 82-4-27 82-4-29 82-4-29 82-4-29 82-4-29 82-4-20 82-40 82-40 82-40 82-40 82-6	COMMISSI Action Amended Amended Amended Amended Amended New New New New New Amended	Kon Register V. 32, p. 940 V. 32, p. 941 V. 32, p. 942 V. 32, p. 942 V. 32, p. 942 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1355 V. 32, p. 1077 V. 32, p. 1079-1099 V. 32, p. 1100-1119 V. 32, p. 1100-1119 V. 32, p. 1121 V. 32, p. 1121 V. 32, p. 1122 V. 33, p. 764-772					

Vol. 33, No. 39, September 25, 2014

Kansas Register

91-42-1	New	V. 32, p. 317		
91-42-2	New	V. 32, p. 317		
AGENCY	92: DEPARTM	ENT OF REVENUE		
Reg. No.	Action	Register		
92-51-21	Amended	V. 32, p. 1325		
92-56-1	Amended	V. 33, p. 371		
92-56-2 92-56-4	Amended Amended	V. 33, p. 372 V. 33, p. 374		
92-56-5	Amended	V. 33, p. 375		
92-56-6		· 1		
through 92-56-9	New	V 22 p 275 276		
		V. 33, p. 375, 376		
		NT OF REVENUE— TY VALUATION		
Reg. No.	Action	Register		
93-4-2	ricuon	Register		
through				
93-4-6	Amended	V. 33, p. 974, 975		
93-6-2 93-6-3	Amended Amended	V. 32, p. 1454 V. 32, p. 1454		
93-6-6	Amended	V. 32, p. 1454 V. 32, p. 1455		
		WATER OFFICE		
Reg. No.	Action	Register		
98-1-1	Amended	V. 32, p. 995		
98-1-1 98-1-2	Revoked	V. 32, p. 995 V. 32, p. 996		
98-2-1	Amended	V. 32, p. 996		
98-2-2	Amended	V. 32, p. 996		
98-2-3 through				
98-2-20	Revoked	V. 32, p. 996		
98-4-1				
through	A	V 22 - 00(000		
98-4-5 98-4-6	Amended Revoked	V. 32, p. 996-998 V. 32, p. 998		
98-4-7	Revoked	V. 32, p. 998		
98-4-8	Amended	V. 32, p. 998		
98-4-9 98-4-10	Revoked Revoked	V. 32, p. 999 V. 32, p. 999		
98-5-1	Revoked	V. 32, p. 999 V. 32, p. 999		
98-5-2		· 1		
through	A	V 22 - 000 1001		
98-5-8 98-5-9	Amended New	V. 32, p. 999-1001 V. 32, p. 1001		
98-6-1	Revoked	V. 32, p. 1002		
98-6-3	Amended	V. 32, p. 1002		
98-6-4 98-7-1	Amended	V. 32, p. 1003		
through				
98-7-4	New	V. 32, p. 1003, 1004		
98-7-6 98-8-1	New New	V. 32, p. 1005 V. 32, p. 1005		
98-8-2	New	V. 32, p. 1005 V. 32, p. 1006		
98-8-3	New	V. 32, p. 1006		
AG	ENCY 99: DEPA	RTMENT OF		
AGRICU	LTURE—DIVIS AND MEAS	ION OF WEIGHTS URES		
Reg. No.	Action	Register		
99-25-1	Amended	V. 32, p. 960		
99-25-9 99-40-3	Amended Amended	V. 32, p. 960 V. 32, p. 960		
		-		
AGENCY 102: BEHAVIORAL SCIENCES REGULATORY BOARD				
Reg. No.	Action	Register		
102-7-3	Amended (T)	V. 32, p. 916		
102-7-3	Amended	V. 32, p. 1356		
AGENCY 109: BOARD OF EMERGENCY MEDICAL SERVICES				
Reg. No.	Action	Register		
109-1-1	Amended	V. 32, p. 226		
109-1-1a	Revoked	V. 32, p. 229		
109-2-2	Amended	V. 32, p. 1512		
109-2-5 109-2-7	Amended Amended	V. 32, p. 612 V. 33, p. 644		
109-2-11	Amended	V. 33, p. 644		
109-2-13	Amended	V. 33, p. 646		
109-3-5 109-5-3	Amended Amended	V. 33, p. 849 V. 32, p. 230		
109-5-5	Amended	V. 32, p. 230 V. 32, p. 231		

109-11-1	Revoked	V. 32, p. 231			
109-11-3	Revoked	V. 32, p. 231			
109-11-4	Revoked	V. 32, p. 231			
109-11-5	Revoked	V. 32, p. 231			
109-11-6	Revoked	V. 32, p. 231			
109-15-1	Amended	V. 32, p. 231			
109-15-2	Amended	V. 33, p. 7			
109-16-1	New	V. 33, p. 8			
AGENCY	110: DEPARTM	ENT OF COMMERCE			
Reg. No.	Action	Register			
110-6-1	Revoked	V. 32, p. 1049			
110-6-1a	Revoked	V. 32, p. 1049			
110-6-2		-			
through					
110-6-7	Revoked	V. 32, p. 1049, 1050			
110-6-8					
through					
110-6-12	New	V. 32, p. 1050-1053			
110-12-1					
through					
110-12-6	Revoked	V. 32, p. 854			
AGENCY 111: KANSAS LOTTERY					
A complete index listing all regulations filed by					
the Vancas Letterry from 1000 through 2000 can be					

the Kansas Lottery from 1988 through 2000 can be found in the Vol. 19, No. 52, December 28, 2000 Kansas Register. A list of regulations filed from 2001 through 2003 can be found in the Vol. 22, No. 52, December 25, 2003 Kansas Register. A list of regulations filed from 2004 through 2005 can be found in the Vol. 24, No. 52, December 29, 2005 Kansas Register. A list of regulations filed from 2006 through 2007 can be found in the Vol. 26, No. 52, December 27, 2007 Kansas Register. A list of regulations filed from 2008 through November 2009 can be found in the Vol. 28, No. 53, December 31, 2009 Kansas Register. A list of regulations filed from December 1, 2009 through December 21, 2011, can be found in the Vol. 30, No. 52, December 29, 2011 Kansas Register. A list of regulations filed from December 22, 2011 through November 6, 2013, can be found in the Vol. 32, No. 52, December 26, 2013 Kansas Register. The following regulations were filed after December 15, 2013:

Reg. No.	Action	Register		
111-2-314	New	V. 33, p. 59		
111-2-315	New	V. 33, p. 758		
111-4-3295	INCW	v. 55, p. 758		
through				
111-4-3305	New	V. 33, p. 35-44		
111-4-3306		1		
through				
111-4-3310	New	V. 33, p. 60-64		
111-4-3311				
through				
111-4-3316	New	V. 33, p. 395-397		
111-4-3317				
through				
111-4-3325	New	V. 33, p. 646-653		
111-4-3326				
through	N .T			
111-4-3333	New	V. 33, p. 685-688		
111-4-3334	New	V. 33, p. 709		
111-4-3335	New	V. 33, p. 710		
111-4-3336 through				
111-4-3340	New	V 33 p 732-736		
111-4-3340	New	V. 33, p. 732-736 V. 33, p. 758		
111-4-3342	New	V. 33, p. 759		
111-4-3343	New	V. 33, p. 760		
111-4-3344	New	V. 33, p. 887		
111-4-3345	New	V. 33, p. 761		
111-4-3346	11011	11 <i>00</i> , p. 701		
through				
111-4-3355	New	V. 33, p. 888-898		
111-5-23	Amended	V. 33, p. 397		
111-5-25	Amended	V. 33, p. 398		
111-5-26	Amended	V. 33, p. 398		
111-5-28	Amended	V. 33, p. 399		
111-5-31	Amended	V. 33, p. 400		
111-5-200	Amended	V. 33, p. 400		
111-5-212a	New	V. 33, p. 688		

128-2-1

Amended

111-5-213		
through		
111-5-217	New V.	33, p. 689, 690
111-5-218	New	V. 33, p. 898
111-7-261	New	V. 33, p. 654
111-7-262	New	V. 33, p. 898
111-9-199		
through		
111-9-203	New	V. 33, p. 45-47
111-9-204	New	V. 33, p. 690
111-9-205	New	V. 33, p. 691
111-9-206	New	V. 33, p. 737
111-9-207	New	V. 33, p. 737
111-15-3	Amended	V. 33, p. 401
111-15-5	Amended	V. 33, p. 401
111-17-9	Amended	
		V. 33, p. 48
111-17-10	Amended	V. 33, p. 48
111-17-12	New	V. 33, p. 65
111-17-13	New	V. 33, p. 403
111-17-14	New	V. 33, p. 738
111-17-15	Amended	V. 33, p. 899
111-301-17	Amended	V. 33, p. 900
111-301-18	Amended	V. 33, p. 900
111-301-19	Amended	V. 33, p. 901
111-301-22	Amended	V. 33, p. 473
111-301-26	Amended	V. 33, p. 473
111-301-28	Amended	V. 33, p. 474
111-301-29	Amended	V. 33, p. 474
111-301-45	New	V. 33, p. 901
111-301-46	New	V. 33, p. 902
111-312-5	Amended	V. 33, p. 763
111-312-7	Amended	V. 33, p. 763
111-401-195	New	V. 33, p. 902
111-501-6	Amended	V. 33, p. 65
111-501-101	Amended	V. 33, p. 67
	NCY 115: DEPARTME	
WILD	LIFE, PARKS AND TO	URISM
Reg. No.	Action	Register
-		-
115-2-1	Amended	V. 32, p. 1299
115-2-3	Amended	V. 33, p. 90
115-4-2	Amended	V. 33, p. 708
115-4-4	Amended	V. 33, p. 921
115-4-4a	Amended	V. 32, p. 320
115-4-11	Amended	V. 32, p. 483
115-4-15	Amended	V. 33, p. 90
115-5-1	Amended	V. 32, p. 854
115 5 1		V 22 - 0FF
115-5-2	Amended	V. 32, p. 855
115-5-2 115-6-1	Amended	V. 32, p. 855 V. 32, p. 855
115-5-2		V. 32, p. 855 V. 32, p. 1300
115-5-2 115-6-1	Amended	V. 32, p. 855 V. 32, p. 1300
115-5-2 115-6-1 115-7-10	Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856
115-5-2 115-6-1 115-7-10 115-8-1	Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2	Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23	Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8	Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14	Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 857
$\begin{array}{c} 115\text{-}5\text{-}2\\ 115\text{-}6\text{-}1\\ 115\text{-}7\text{-}10\\ 115\text{-}8\text{-}1\\ 115\text{-}8\text{-}2\\ 115\text{-}8\text{-}23\\ 115\text{-}9\text{-}8\\ 115\text{-}14\text{-}14\\ 115\text{-}16\text{-}5\\ 115\text{-}18\text{-}7\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90
$\begin{array}{c} 115\text{-}5\text{-}2\\ 115\text{-}6\text{-}1\\ 115\text{-}7\text{-}10\\ 115\text{-}8\text{-}1\\ 115\text{-}8\text{-}2\\ 115\text{-}8\text{-}2\\ 115\text{-}8\text{-}2\\ 115\text{-}9\text{-}8\\ 115\text{-}14\text{-}14\\ 115\text{-}16\text{-}5\\ 115\text{-}18\text{-}7\\ 115\text{-}40\text{-}1\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 857
$\begin{array}{c} 115\text{-}5\text{-}2\\ 115\text{-}6\text{-}1\\ 115\text{-}7\text{-}10\\ 115\text{-}8\text{-}1\\ 115\text{-}8\text{-}2\\ 115\text{-}8\text{-}23\\ 115\text{-}9\text{-}8\\ 115\text{-}14\text{-}14\\ 115\text{-}16\text{-}5\\ 115\text{-}18\text{-}7\\ \end{array}$	Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 857
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mexeve V.	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST APPRAISAL BOARD	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-18-7 115-18-7 115-18-7 115-40-1 through 115-40-6 Reg. No.	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. SENCY 117: REAL EST APPRAISAL BOARD Action	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 857 V. 32, p. 320 32, p. 858, 859 ATE Register
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. SENCY 117: REAL EST APPRAISAL BOARD Action Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 AC Reg. No. 117-2-2 117-3-2	Amended Amended Amended Amended Amended Amended Amended Amended Memede Amended Xerrer Kerer Kerrer Kerrer Kerrer Kerrer Kerrer Kerrer Kerer Ke	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 89 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-4-2	Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831 V. 33, p. 832
115-5-2 115-6-1 115-8-1 115-8-2 115-8-23 115-9-8 115-18-7 115-18-7 115-10-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-5-2	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. SENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 833
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-7-1	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 473
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-7-1 117-7-1 117-7-1	Amended Amended Amended Amended Amended Amended Amended Amended Amended Kew V. GENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 873 V. 32, p. 89
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 AC Reg. No. 117-2-2 117-3-2 117-2-2 117-5-2 117-20-3 117-20-3 117-20-4	Amended Amended Amended Amended Amended Amended Amended Amended Amended Kew V. GENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 833 V. 33, p. 473 V. 32, p. 89 V. 32, p. 89 V. 33, p. 834
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-14-7 115-40-1 through 115-40-6 AC Reg. No. 117-2-2 117-3-2 117-4-2 117-20-3 117-20-4 117-20-7	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Attion Action Amended New	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 89 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 834 V. 32, p. 89
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-14-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-5-2 117-5-2 117-5-2 117-5-2 117-20-3 117-20-4 117-20-7 AGE	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended Amended Amended Amended New New New New New	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-14-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-5-2 117-5-2 117-5-2 117-5-2 117-20-3 117-20-4 117-20-7 AGE	Amended New Amended New Amended New Amended New	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 NT OF
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-14-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-5-2 117-5-2 117-5-2 117-5-2 117-20-3 117-20-4 117-20-7 AGE	Amended Amended Amended Amended Amended Amended Amended Amended Amended Mew V. GENCY 117: REAL EST APPRAISAL BOARD Action Amended Amended Amended Amended Amended Amended New New New New New	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 NT OF
115-5-2 115-6-1 115-7-10 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-14-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-3-2 117-5-2 117-5-2 117-5-2 117-5-2 117-20-3 117-20-4 117-20-7 AGE	Amended New Amended New Amended New Amended New	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 832 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 NT OF
115-5-2 115-6-1 115-8-1 115-8-2 115-8-23 115-9-8 115-18-7 115-18-7 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-5-2 117-7-1 117-20-3 117-20-4 117-20-4 117-20-7 AGE COF Reg. No.	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Action Amended	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 NT OF S Register
115-5-2 115-6-1 115-8-1 115-8-2 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-5-2 117-7-1 117-20-3 117-20-4 117-20-7 AGE COF Reg. No. 123-6-105	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended New NCY 123: DEPARTMEI RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T)	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 833 V. 33, p. 834 V. 32, p. 89 NT OF N OF Register V. 33, p. 732
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-1 through 115-40-3 115-2-2 117-2-2 117-2-2 117-2-2 117-2-2 117-2-2 117-2-2 117-20-3 117-20-4 117-20-7 AGE COF Reg. No. 123-6-105 123-6-105 123-6-105	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended New NCY 123: DEPARTMEL RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T) New (T)	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE Register V. 33, p. 833 V. 33, p. 834 V. 32, p. 89 NT OF N OF Register V. 33, p. 732 V. 33, p. 732 V. 33, p. 732
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-7-1 117-20-3 117-20-3 117-20-7 AGE COF Reg. No. 123-6-105 123-6-105a AGENCY 12	Amended New NCY 123: DEPARTMEI RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T) New (T) 8: DEPARTMENT OF C	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 33, p. 834 V. 32, p. 89 NT OF S Register V. 33, p. 732 V. 33, p. 732
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-7-1 117-20-3 117-20-3 117-20-7 AGE COF Reg. No. 123-6-105 123-6-105a AGENCY 12	Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended Amended New NCY 123: DEPARTMEL RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T) New (T)	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 33, p. 834 V. 32, p. 89 NT OF S Register V. 33, p. 732 V. 33, p. 732
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-20-3 117-20-4 117-20-7 AGE Reg. No. 123-6-105 123-6-105a AGENCY 12 KANS	Amended New NCY 123: DEPARTMEI RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T) New (T) 8: DEPARTMENT OF C	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 831 V. 33, p. 833 V. 33, p. 834 V. 32, p. 89 NT OF S Register V. 33, p. 732 V. 33, p. 732
115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-1 through 115-40-6 Reg. No. 117-2-2 117-3-2 117-4-2 117-7-1 117-20-3 117-20-3 117-20-7 AGE COF Reg. No. 123-6-105 123-6-105a AGENCY 12	Amended New NCY 123: DEPARTMEL RECTIONS—DIVISIO JUVENILE SERVICES Action Amended (T) New (T) 8: DEPARTMENT OF C AS ATHLETIC COMM	V. 32, p. 855 V. 32, p. 1300 V. 33, p. 709 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 89 V. 32, p. 90 V. 32, p. 320 32, p. 858, 859 ATE V. 33, p. 830 V. 33, p. 831 V. 33, p. 831 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 33, p. 833 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 32, p. 89 V. 33, p. 834 V. 32, p. 89 NT OF S Register V. 33, p. 732 V. 33, p. 732

V. 33, p. 946

Amended

V. 32, p. 231

109-5-5

Index to Regulations

— Kansas Register —

128-2-3	Amended	V. 33, p. 947	129-6-42	New	V. 33, p. 149	129-6-140	New (T)	V. 32, p. 1407
128-2-3a	New	V. 32, p. 1457	129-6-50			129-6-140	New	V. 33, p. 173
128-2-4	Amended	V. 33, p. 947	through			129-6-150	New (T)	V. 32, p. 1407
128-2-6			129-6-57	New (T)	V. 32, p. 1383-1388	129-6-150	New	V. 33, p. 173
through			129-6-50			129-6-151	Amended (T)	V. 32, p. 1408
128-2-9	Amended	V. 32, p. 1457, 1458	through			129-6-151	Amended	V. 33, p. 173
128-2-12	Amended	V. 33, p. 947	129-6-57	New	V. 33, p. 149-154	129-6-152	Amended (T)	V. 32, p. 1408
128-2-13	Amended	V. 33, p. 948	129-6-60	New (T)	V. 32, p. 1390	129-6-152	Amended	V. 33, p. 174
128-3-1	Amended	V. 33, p. 949	129-6-60	New	V. 33, p. 156	129-6-153	New (T)	V. 32, p. 1408
128-4-2			129-6-63	New (T)	V. 32, p. 1391	129-6-153	New	V. 33, p. 174
through			129-6-63	New	V. 33, p. 157	129-10-31	Amended	V. 32, p. 1488
128-4-9	Amended	V. 32, p. 1460-1465	129-6-65	New (T)	V. 32, p. 1391	129-14-2	New (T)	V. 32, p. 1409
128-5-1	Amended	V. 32, p. 1466	129-6-65	New	V. 33, p. 157	129-14-2	New	V. 33, p. 174
128-5-2	Amended	V. 32, p. 1466	129-6-70		-	129-14-3	New (T)	V. 32, p. 1409
128-5-3	New	V. 32, p. 1467	through			129-14-3	New	V. 33, p. 175
128-6-1	Amended	V. 32, p. 1467	129-6-74	New (T)	V. 32, p. 1391, 1392	129-14-20	New (T)	V. 32, p. 1409
128-6-6	New	V. 32, p. 1472	129-6-70			129-14-20	New	V. 33, p. 175
128-6-7	New	V. 32, p. 1472	through			129-14-21	New (T)	V. 32, p. 1410
			129-6-74	New	V. 33, p. 157, 158	129-14-21	New	V. 33, p. 175
		MENT OF HEALTH	129-6-77	Revoked (T)	V. 32 p. 1393	129-14-22	Revoked (T)	V. 32, p. 1410
		T—DIVISION OF	129-6-77	Revoked	V. 33, p. 159	129-14-22	Revoked	V. 33, p. 175
	HEALTH CARI	E FINANCE	129-6-80		-	129-14-23	New (T)	V. 32, p. 1410
Reg. No.	Action	Register	through			129-14-23	New	V. 33, p. 176
129-1-1	New (T)	V. 32, p. 1380	129-6-89	New (T)	V. 32, p. 1393-1395	129-14-25	New (T)	V. 32, p. 1410
129-1-1	New (1)		129-6-80			129-14-25	New	V. 33, p. 176
129-1-1		V. 33, p. 146	through			129-14-26	New (T)	V. 32, p. 1411
129-2-1	New (T)	V. 32, p. 1380	129-6-89	New	V. 33, p. 159-161	129-14-26	New	V. 33, p. 176
	New	V. 33, p. 146	129-6-91	New (T)	V. 32, p. 1395	129-14-27	Amended (T)	V. 32, p. 1411
129-2-2 129-5-1	New	V. 33, p. 146	129-6-91	New	V. 33, p. 161	129-14-27	Amended	V. 33, p. 177
	Amended	V. 33, p. 754	129-6-94			129-14-28	New (T)	V. 32, p. 1412
129-6-30	New (T)	V. 32, p. 1380	through			129-14-28	New	V. 33, p. 177
129-6-30	New	V. 33, p. 146	129-6-97	New (T)	V. 32, p. 1395, 1396	129-14-30		
129-6-34	New (T)	V. 32, p. 1380	129-6-94			through		
129-6-34	New	V. 33, p. 146	through			129-14-37	New (T)	V. 32, p. 1412-1414
129-6-35	New (T)	V. 32, p. 1382	129-6-97	New	V. 33, p. 161, 162	129-14-30		
129-6-35	New	V. 33, p. 148	129-6-103	New (T)	V. 32, p. 1396	through		
129-6-36	New (T)	V. 32, p. 1382	129-6-103	New	V. 33, p. 162	129-14-37	New	V. 33, p. 178-180
129-6-36	New	V. 33, p. 148	129-6-106			129-14-40	New (T)	V. 32, p. 1414
129-6-38	Revoked (T)	V. 32, p. 1382	through			129-14-40	New	V. 33, p. 180
129-6-38	Revoked	V. 33, p. 148	129-6-113	New (T)	V. 32, p. 1397-1405	129-14-50	New (T)	V. 32, p. 1415
129-6-39	New (T)	V. 32, p. 1382	129-6-106			129-14-50	New	V. 33, p. 180
129-6-39	New	V. 33, p. 148	through			129-14-51	Amended (T)	V. 32, p. 1415
129-6-41	New (T)	V. 32, p. 1382	129-6-113	New	V. 33, p. 163-171	129-14-51	Amended	V. 33, p. 180
129-6-41	New	V. 33, p. 149	129-6-120	New (T)	V. 32, p. 1407	129-14-52	Amended (T)	V. 32, p. 1415
129-6-42	New (T)	V. 32, p. 1383	129-6-120	New	V. 33, p. 172	129-14-52	Amended	V. 33, p. 180

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594